2013 Horsepool (snow)
Fest: 0.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 0000 UTC Fri 01 Feb 13 (1700 MST Thu 31 Jan 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

Full barb:
msR

200

300

400

o

500

Parcel Info

T - 0.8 Td =
600| L1 = 9.1 LCL =

K = 9 LFC =

T = 3 EL = A W
700| sy1 = 11.5 cCL = 601.

PW = 0.68 VGP = 0.0 j
800| CAPE - 0 SWEAT= 42>

CIN = 0 HWBZ= 0. LA
900| Tc = 15.3 SHEAR= 44, s N\ S N2 S SN VA e N

SREH = 0 LAPSE= 5.3 \)/\ N\ /(\/ X \~ /0 \/*\ } |
1000 LELL = 295/36 AN A N VA W A7 N L A




2013 Horsepool (snow)
Fest: 1.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 0100 UTC Fri 01 Feb 13 (1800 MST Thu 31 Jan 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full bar?:
5ms”

200

/:5

300

o

400
500 .
Parcel Info
T = 1.0 Td= -7.1
600| LT = 8.2 LCL = 707.
K = 7 LFC = 0.
TT - 35 EL = 0. N
700) sy1 = 12,7 CcCL = 608. e Z ’
PW = 0.67 VGP = 0.0 X /%/\ NN eS| L/ S
800/ CAPE = 0 SWEAT= 53> o AN AN v S S0 SN /A SN
CIN = 0 HWBZ= 0.~ /(fz\\ S A \l/\[lr“ LA 7
900| Tc = 14.6 SHEAR= 42. NS N VA S\ LN A I e
SREH = 0 LAPSE= 5.6 \)/ /\ /V\;/\ \ )\/xr R “
1000| CELL = 298/34 A A




2013 Horsepool (snow)
Fest: 2.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 0200 UTC Fri 01 Feb 13 (1900 MST Thu 31 Jan 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

200

300

400

500

T = 1.5 Td =
600 LI = 8.6 LCL =
K = 4 LFC =
TT = 33 EL =
700| gy1 = 13.7 ccL =
PW = 0.64 VGP =
800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ=
900]| Tc = 13.8 SHEAR=
SREH = 0
1000/ CELL = 300/35

0.0
58 :

0.~

43. - BN >‘ N \ /\\\ S~ I s -~

4 ¥ \ Ry G
LAPSE= 5.7 \)/5 / /V/ R
AV 4




2013 Horsepool (snow)
Fest: 3.00 h
Temperature

Dewpoint temperature

x,y=175.8

100

x,y=175.85,156.98
Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 0300 UTC Fri 01 Feb 13 (2000 MST Thu 31 Jan 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

5,156.98

200

300

400

500

T =  -3.7 Td =
600| LI =  10.1 LCL =
K = 4 LFC = <
TT = 31 EL = N
700| sw1 = 15.4 CCL = 653. INA -
PW = 0.68 VGP = 0.0 ///%/ \\> ! A
800/ CAPE = 0 SWEAT= 40 Pt 72N A S AT -
CIN = 0 HWBZ= 0.~ /(,J/ )///\ AVEN! \l/\[lr“ LA 7
900| Tc =  10.2 SHEAR= 42, = N LN ANV SN ZAVE BN e
SREH = 0 LAPSE= 5.5 \)/‘\ /N /z\‘;s/\ VL /*\ e
1000| CELL = 303/36 N A A N VA W A B A v




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest: 4.00 h Valid: 0400 UTC Fri 01 Feb 13 (2100 MST Thu 31 Jan 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full barq
S5ms

100

200

300

o

S LEE FE L

400
500 .
Parcel Info
T =  -3.4T1d-=
600| LI = 9.6 LCL =
K = 5 LFC =
TT = 31 EL =
700 sy1 = 15.3 cCL = 652, N :
PW = 0.71 VGP = 0.0 Ny N
800/| CAPE = 0 SWEAT= 51 . b —

CIN = 0 HWBZ= _ \/( /\.% \\ VAN \l/\[lr“ l' T
900| Tc = 10.5 SHEAR= I A e WIVAN) SN VA IS e
SREH = 0 LAPSE= 5. 4\)/‘\ A /V\/ \ /\ R
1000/ CELL = 301/38 R AV S L v




2013 Horsepool (snow)
Fest: 5.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 0500 UTC Fri 01 Feb 13 (2200 MST Thu 31 Jan 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full bar?:
5ms”

200

300

400

500

Parcel Info

T = -5.8 Td -8.2 X~
600| LI = 10.0 LCL = 741.
K = 3 LFC = 0.
TT = 28 EL = 0.\,
700| syt 17.3 CCL = 664,
PW = 0.73 VGP = 0.0
800/ CAPE = 0 SWEAT= 46 >
CIN 0 HWBZ= 0. \\
900| Tc = 9.6 SHEAR= 44. —X
SREH = 0 LAPSE= 5.6 \)/ \ /\/ \
1000/ CELL = 299/38 X




2013 Horsepool (snow)
Fest: 6.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98

X,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 0600 UTC Fri 01 Feb 13 (2300 MST Thu 31 Jan 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full bar?:
5ms”

200

300

o

400
500 .
Parcel Info
T =  -7.3Td-=
600| L1 =  10.2 LCL =
K = 1 LFC =
TT = 26 EL = . \ N PN - W
700| sy1 = 18.6 CCL = 648. 7R A NS T~ ~_
PW = 0.72 VGP = 0.07 N7/ )4/ /‘\\\2 D G A N R Ve
800/ CAPE = 0 SWEAT= 46> > SEV7AN e A Lo A7 I -
_ - A\ > AL LA | X =14
CIN 0 HWBZ= 0% M /)// N / A ]
900| Tc = 11.0 SHEAR= 46. S N2 S SN R e .
SREH = 0 LAPSE= 5.8 \)/ /\ SR A i S
- A
1000/ CELL = 296/39 AT AN =




2013 Horsepool (snow)
Fest: 7.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 0700 UTC Fri 01 Feb 13 (0000 MST Fri 01 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

Full barl?:
5ms”

200

300

400

o

500

-7.2 Td = -9.3
600| LI =  10.1 LCL = 748.

K = 2 LFC = 0.

TT = 27 EL = 0.
700| sy1 = 18.2 cCL = 651. 7K o N 7

PW = 0.73 VGP = 0.0 \ / )4( /‘\\) CL\\ # ‘»4\\r (7 Ve
800/ CAPE = 0 SWEAT=  48: Pt /AN A S AT -

CIN = 0 HWBZ= 0.~ /-/(_/\«/“ AEVAYEN “/K' A A

Tc = 10.7 SHEAR= 46. SN O N A N
900 : . S N A} AIES v T VAl T ~J ~

SREH = 0 LAPSE= 5.8 \)/*\\ 2N /y\/ sy s
1000 CELL = 296/41 NS ANEAN VA N Y4 T A VA




2013 Horsepool (snow)
Fest: 8.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 0800 UTC Fri 01 Feb 13 (0100 MST Fri 01 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full bar?:
5ms”

200

300

400

o

>00 Parcel Info
T = -7.5 Td =

600| LI = 9.9 LCL =
K = 1 LFC =
1T = 27 EL =

700| sy1 = 18.3 cCL =
PW = 0.74 VGP =

800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ=

900]| Tc = 11.0 SHEAR=
SREH =

1000| CELL =

-9.5 .

746
0.
0.\

646 .
0.0
50 :

50.

0. \V/QQ;‘%*T’j)/7‘\ /\\~~\

///

0 LAPSE= 5.9 tx// - /‘\//>( v \\ s
294/43




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest: 9.00 h Valid: 0900 UTC Fri 01 Feb 13 (0200 MST Fri 01 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full bar?:
5ms”

100

200

FrE F £ F

300

o

FEE

400 Y
500 ~
Parcel Info
T =  -7.6Td= -95 \.
600| LI = 10.0 LCL = 751.
K = 1 LFC = 0.
T = 27 EL = 0.
700| sy1 = 18.3 CCL = 646,
PW = 0.74 VGP = 0.0
800| CAPE = 0 SWEAT= 53
CIN = 0 HWBZ= 0.~ \ |
900| Tc = 11.2 SHEAR= 52. RNV N A SN VA -
SREH = 0 LAPSE= 5.9 \)/ /\ R S P s i “
1000| CELL = 293/44 -y <A~




2013 Horsepool (snow)
Fest:  10.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 1000 UTC Fri 01 Feb 13 (0300 MST Fri 01 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

200

/E

300

o

400
500 Parcel Info . A)Q
T = 74 Td= -9.2 X Q\\>\
600| LI = 10.0 LCL = 757. <
K = 2 LFC = 0.
1T = 28 EL = 0. )zé W
700| sw1 = 17.8 CCL = 653. R Ry
PW = 0.73 VGP = 0.0 R
800/ CAPE = 0 SWEAT= 55
CIN = 0 HWBZ= 0.~ | AL
900| Tc = 10.7 SHEAR= 54. > S N4\ N o _ =
SREH = 0 LAPSE= 5.8 \)/ /\ /(\/ \ /\ /- /& |
1000| CELL = 292/45 A e L i R




2013 Horsepool (snow)
Fest:  11.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1100 UTC Fri 01 Feb 13 (0400 MST Fri 01 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

Full bar?:
5m s~

200

300

o

400
500 .
Parcel Info .
T = =69 Td= -8.8 Xu
6O0| L1 =  10.2 LCL = 756.
K = 1 LFC = 0.
200l 1T - 28 EL = 0.
SWI = 17.5 CCL = 649,
PW =  0.70 VGP = 0.0 - t
800/ CAPE = 0 SWEAT= 56 % /AN . . .
_ . ~ ‘ AN AL oK g
CIN 0 HWBZ= 0. /ﬁ«@/ /)// AN / A /{
900| Tc = 10.9 SHEAR= 57. S /24 S\ e A DN o S
SREH = 5 LAPSE= 5.9 \)/ /\ /‘\/ N /\% R
} A
1000| CELL = 294/48 AT A




2013 Horsepool (snow)
Fest:  12.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98

X,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 1200 UTC Fri 01 Feb 13 (0500 MST Fri 01 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full bar?:
5ms”

200

300

FFEE £ E F

400

o

500

0

FEEL

-

/

Info

Parcel

T = 6.9 Td =
600 LI = 9.9 LCL =

K = 0 LFC =

TT = 29 EL =
700| gy1 = 17.2 ccL =

PW = 0.68 VGP =
800/ CAPE = 0 SWEAT=

CIN = 0 HWBZ=
900]| Tc = 10.4 SHEAR=

SREH = 0 LAPSE=
1000| CELL = 297/50

N
L
Q
. N b‘
660. R
0.0 /
56 . . .
0. < l| S /
59 . N S\ \ 1 I T o
\ \ \ \ v \l T ~J 7 < 7
6.3 / N /V\/ \ S
Y\ [N [
N Y \ \ N [ A "/




2013 Horsepool (snow)
Fest:  13.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 1300 UTC Fri 01 Feb 13 (0600 MST Fri 01 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full bar?:
5ms”

200

300

o

400
500 >
Parcel Info
T = -8.8Td= -9.6
600| L1 =  10.6 LCL = 765.
K = -3 LFC = 0. | )
T = 26 EL = 0.\ DAL S ©
700 sy1 = 19.3 CCL = 649, ~ S
PW = 0.64 VGP = 0.0 X g /L
800/ CAPE = 0 SWEAT= 53: SND7AN . . N -
_ _ . 7 \ LA S p
CIN 0 HWBZ= 0. /fé&\/ /)// \ Yo x'r\ | 7//
900| Tc =  11.1 SHEAR= 58. S N2 S SN VA . ~
SREH = 0 LAPSE= 6.2 \)/ /\ /‘\/ \ s N
1000| CELL = 302/48 D *r\ \ ‘\" - I|r M




2013 Horsepool (snow)
Fest:  14.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

200

300

400

500

600| L1 =  11.5 LCL = 768.

K = 5 LFC = 0.
ool 1T° 23 EL = 0.

SWI = 20.8 CCL = 645, /

\ \ 7

PU = 0,62 VP = 0.07 N 7YY W N A VA U AN
800/ CAPE = 0 SWEAT= 55° Pt SNP7AN A D A7 “’/

CIN = 0 HWBZ= 0.\ 4= ///‘\\\\ AVEN! \l/\[lr“ oA AP
900| Tc = 11.5 SHEAR= 58. . AR\ (25 NS NIVASEE] SN A S S

SREH = 44 LAPSE= 6.0 N0 A\ At sl L Sy L
1000 LELL = 304/48 N 074 N AN VA N 74 W A

Init: 0000 UTC Fri O1 Feb 13
Valid: 1400 UTC Fri 01 Feb 13 (0700 MST Fri 01 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

0

-9.6

Td

-10.2




2013 Horsepool (snow)
Fest:  15.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98

X,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 1500 UTC Fri 01 Feb 13 (0800 MST Fri 01 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

200

300

400

500

Parcel Info

T = 9.6 Td =
600 LI = 12.0 LCL =
K = -6 LFC =
TT = 22 EL =
700| gy1 = 21.2 ccL =
PW = 0.60 VGP =
800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ=
900]| Tc = 12.5 SHEAR=
SREH = 60
1000/ CELL = 304/49

A} ¥
LAPSE= 5.8 \)/ / /\ /A
S N \ Y

~ o
633. < S
SN
0.0 Y < £
53 \ N

58 Y \\M/ . ( /*\\\ | [*\\ ‘! . =

NG

-

\




2013 Horsepool (snow)
Fest:  16.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98

X,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1600 UTC Fri 01 Feb 13 (0900 MST Fri 01 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

200

300

400

Full barl?:
5ms”

/E

o

0

FLEEE LA

/
G
.
/
/

>00 Parcel Info '\)Q
T = -10.8 Td = -10. \>\
600| LT = 12.6 LCL = Ve
K = -9 LFC = §
1T = 20 EL = . % W
700| gy1 = 22.5 cCcL = 620. A~
PW = 0.58 VGP = 0.07 X7 /X L N7 S P A A
800/ CAPE - 0 SWEAT= 52 : > A7 L VA SV NI /28 SN N
CIN = 0 HWBZ= S \ 7~ /// \\ /\ \\\ \l/\[lr“ ,' /
900| Tc = 13.7 SHEAR= 57 S > S, /974 A o - =
SREH = 87 LAPSE= 5.8 \)/ ' /\/z\/\ \ X \ /) ¥‘ } |
1000 LELL = 304/50 AN AN VA N A4 N L A




2013 Horsepool (snow)
Fest:  17.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98

X,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 1700 UTC Fri 01 Feb 13 (1000 MST Fri 01 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

200

300

400

o

500

0

LALEL L £ F

e
/A

Parcel In

Q
9.2 Td \>\'b
600 13.0 LCL e
-6 LFC i
22 EL K RS
700 cCL 2 —
= VGP S /\>\§ / AN
800| CAPE = 0 SWEAT= 54 > > AN S A LN /2 o]
CIN = 0 HWBZ= SN /W /// \\ /\ \\\ \l/\xlr\ ll
900| Tc = 14.9 SHEAR= 59 \ Vaa % AL s
SREH = 103 LAPSE= 5.6 \ /\ \ & / \/ S
1000| CELL = 304/51 . S G S s v




2013 Horsepool (snow)
Fest:  18.00 h
Temperature x,y=175.85,156.98
Dewpoint temperature x,y=175.85,156.98
Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1800 UTC Fri 01 Feb 13 (1100 MST Fri 01 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

100

200

F

300

o

400
500
7 Td

600| LI =  12.7 LCL =

K = -3 LFC =

TT = 26 EL = \ PN
700| swt = 18.6 CCL = 606. A 2 A SNy ]

PW = 0.56 VGP =  0.07 w7 /\\?/ S S L/ A

N . A\ \ N Ay

800/| CAPE = 0 SWEAT= 57 y END7AN A D A7

CIN = 0 HWBZ= 0.~ /Q/ 7 //\/\\{ \l/\[lr“ LA
900| Tc =  15.1 SHEAR= 58. YA SN 8 2% BN -

SREH = 104 LAPSE= 5. 5\)/ \ /\/V\/ \ /\ 1NN A
1000/ CELL = 304/50 \ “r\ \ ‘\' L I .




2013 Horsepool (snow)
Fest:  19.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98

X,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 1900 UTC Fri 01 Feb 13 (1200 MST Fri 01 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

200

300

400

500

600

700

800

CIN = 0 HWBZ= R \l/\[lr“ b A
900| Tc = 14.8 SHEAR= 56. PN NVRANYAC N AR I e
SREH = 121 LAPSE= 5.5 \)/ /\ /(\/ \ R s
- A
1000| CELL = 304/50 A A




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest:  20.00 h Valid: 2000 UTC Fri 01 Feb 13 (1300 MST Fri 01 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full barb:
5ms
100

/L—:

200

300

o

400

500

600

700

800

SHEAR= 57,

LAPSE= 5.2 tx//*\

900! Tc = 13.4
1000 CELL

w
O
m
T
I
w
(@]
N
~N O
S 0l
0]




2013 Horsepool (snow)
Fest:  21.00 h
Temperature

Dewpoint temperature

Init: 0000 UTC Fri O1 Feb 13
Valid: 2100 UTC Fri 01 Feb 13 (1400 MST Fri 01 Feb 13)

x,y=175.85,156.98

X,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

200

300

400

500
600
700
Wy

800 \ = < e

CIN = 0 HWBZ= 0. A 4(//’//\ AVAN \l/\[lr“ oA A
900| Tc = 12.6 SHEAR= 56. NIV N V4 S\ SN AR S e

SREH = 25 LAPSE= 5.0 \)/ /\ /(\/ G A S i

- MR

1000/ CELL = 304/48 " A L




2013 Horsepool (snow)
Fest:  22.00 h
Temperature

Dewpoint temperature

Init: 0000 UTC Fri O1 Feb 13
Valid: 2200 UTC Fri 01 Feb 13 (1500 MST Fri 01 Feb 13)

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

200

£

£_r

300

400

500

Td =

600| LI = LCL
K = 2 LFC
TT = 29 EL
700| sy1 = 16.7 ccL
PW = 0.61 VGP =
800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ=
900]| Tc = 12.3 SHEAR=
SREH = 0 LAPSE=
1000/ CELL = 305/47

KAFDAL LA~

) XADQ
’ < | “\\ /\\\
-0 / < <>d\‘\~\ / /\L\ e
o %—)\’ I7ANSEE VA4 SV N /2 NN N
0.5 /< S ///\ JAV ANV 1/@' AL A
57. N8N N, G S VA N L7 (s

N \ -
5.1 \)/ N /\/\

NS




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest:  23.00 h Valid: 2300 UTC Fri 01 Feb 13 (1600 MST Fri 01 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full barb:
m s
100

£

200

300

o

LEELALL L L F

400

500

Td

s / /g %/, ;; <
>
9o

600| L1 = 7 LCL \
LFC 4
EL 5 th
700 ccL = 7 7 s 7=
PU = 0.60 VGP = 0.07 N/ \( MO\ Y A /\L\: b
800/ cAPE = 0 SWEAT= 61 > .. A\ S/ w4 S/ SN /A SN S
CIN = 0 HWBZ=  0.% /< S NS ol \l/\[lr“ LA >>j
900| Te = 12.1 SHEAR= 57. AR\ (25 NS NIVASEE] SN A S e
SREH = 0 LAPSE= 5.4 M2 A A L S b e
1000 CELL = 307/47 N N N A VN




2013 Horsepool (snow)
Fecst:  24.00 h
Temperature

Dewpoint temperature

Valid:

x,y=175.85,156.98

X,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

0000 UTC Sat 02 Feb
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

lat,lon= 40.14,-109.47

Init: 0000 UTC Fri O1 Feb 13
13 (1700 MST Fri 01 Feb 13)

Full bar?:
5ms”

200

300

400

500

Parcel Info

T = 5.4 Td =
600 LI = 11.4 LCL =
K = -3 LFC =
TT = 28 EL =
700| sy1 = 17.6 cCL =
PW = 0.61 VGP =
800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ=
900]| Tc = 12.0 SHEAR=
SREH = 0
1000/ CELL = 308/46

0.~

O / %/)// S OO A

)
LAPSE= 5.4 )/\ /\/§/ o)
SVANAN i




2013 Horsepool (snow)
Fest:  25.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 0100 UTC Sat 02 Feb 13 (1800 MST Fri 01 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

Full barl?:
5ms”

200

300

400

500
Q
»
3 Td \>\
600| LI = 12.0 LCL = NP
K = -5 LFC =
T = 28 EL = W
700| sy1 = 17.6 cCL = IR
PW = 0.59 VGP = W]
800/ CAPE = 0 SWEAT= . /A = | =
CIN = 0 HWBZ= . /< /// ) / i o TPA
900| Tc = 11.5 SHEAR= 52. WA N4 e ; L ! S
SREH = 0 LAPSE= 5.4 \)/*\\ AN N SA N
- N NS4
1000| CELL = 309744 N 74 A N VA W A N A VA




2013 Horsepool (snow)
Fest:  26.00 h
Temperature

Dewpoint temperature

Valid:

x,y=175.85,156.98

X,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

0200 UTC Sat 02 Feb
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

lat,lon= 40.14,-109.47

Init: 0000 UTC Fri O1 Feb 13
13 (1900 MST Fri 01 Feb 13)

Full bar?:
5ms”

200

300

400

500

Parcel Info

T =  -6.3Td-=
600| LT = 12.5 LCL =
K = -4 LFC =
TT = 26 EL =
700| sy1 = 18.9 cCL = .
PW = 0.59 VGP = 0.0
800/ CAPE = 0 SWEAT= 55 \‘—
CIN = 0 HWBZ= 0. LA A
900| Tc = 9.5 SHEAR= 52. WA SN A TN N
SREH = 0 LAPSE= 5. o\)/\ /\/§/ \*r PN
1000 CELL = 310/42 KA A ] -




2013 Horsepool (snow)
Fest:  27.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 0300 UTC Sat 02 Feb 13 (2000 MST Fri 01 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

Full barl?:
5ms”

200

300

400

500
600 .
K = -6 LFC
T = 24 EL .
700| sw1 = 20.0 CCL = 672. U=
PW = 0.57 VGP = 0.0 %Q o
800/ CAPE - 0 SWEAT= 51> . S/ vl v S NEYAR S /A - e
CIN = 0 HWBZ= 0. % M\\ VAN \l/\[lr“ LA X
900| Tc - 9.8 SHEAR= 51. AR\ (25 NS NIVASEE] SN A S e
SREH = 0 LAPSE= 4.9 NN A A L L S b o
1000| CELL = 310741 NN Y A




2013 Horsepool (snow)

Fest: 28.00 h Valid:

Init: 0000 UTC Fri O1 Feb 13
0400 UTC Sat 02 Feb 13 (2100 MST Fri 01 Feb 13)

Temperature
Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98

lat,lon= 40.14,-109.47

100

200

300

400

500

T = -7.3Td
600| LI =  13.0 LCL
K = -5 LFC
T = 23 EL .
700| sy1 = 20.3 CCL = 669. v =
PW = 0.56 VGP = 0.0 \/;g 8) 3 !
800/ CAPE = 0 SWEAT= 51:° Pt SND7AN A S AT N S
CIN = 0 HWBZ= 0. /< g ///\\\ VAN \l/\[lr“ LA .
900| Tc = 9.9 SHEAR= 47. AR\ (25 NS NIVASEE] SN A S e =
SREH = 0 LAPSE= 4.7 \)/*\\ INS AN H S
1000] CELL = 310740 SN 7 N A N 7 A W 74 N S

Full barl?:
5ms”




2013 Horsepool (snow)
Fest:  29.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98

X,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 0500 UTC Sat 02 Feb 13 (2200 MST Fri 01 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full bar?:
5ms”

200

300

400

500

Parcel Info

T = 7.7 Td 3
600 LI = 13.6 LCL

K = -7 LFC

TT = 23 EL
700| sy1 = 20.8 cCL =

PW = 0.54 VGP =
800/ CAPE = 0 SWEAT=

CIN = 0 HWBZ=
900]| Tc = 16.3 SHEAR=

SREH = 0 LAPSE=
1000/ CELL = 311/39

606 .

N\ SN\ JA SO -
0,07 N /XN \3) R L & s
50 N S ~ \ \ \7'~ _ “ _ / ~ _ . _
N \ o \\\ \\\ \ . N | . { /
0 /{e—%f\//// RV / RO Y
48, S A >‘\ ot \ / \\\ 4 | >~ _ S~
4.7 \)/ / / R R L NV e
NNEN A IR A N
Yy A




2013 Horsepool (snow)
Fest:  30.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98

X,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 0600 UTC Sat 02 Feb 13 (2300 MST Fri 01 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98

100

lat,lon= 40.14,-109.47

Full bar?:
5ms”

200

300

400

500

Info

Parcel

T = 8.1 Td 3
00| LT =  14.0 LCL
K = -9 LFC
TT = 21 EL
700| syr = 21.9 ccL
PW = 0.53 VGP =
800| CAPE = 0 SWEAT
CIN = 0 HWBZ-= 4
900| Te = 17.1 SHEAR= 49.
SREH = 0 LAPSE= 4.7 \)/
1000| CELL = 310/39




2013 Horsepool (snow)
Fest:  31.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98

X,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 0700 UTC Sat 02 Feb 13 (0000 MST Sat 02 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

Full bar?:
5ms”

200

300

400

500

T =  -8.4Td
600| LI =  14.2 LCL
K = -10 LFC
TT = 20 EL
700| sy1 = 22.3 coL
PW =  0.52 VGP
800| CAPE - 0 SWEAT= % _

CIN = 0 HWBZ= 0.~ N / - VAN E/\Ar LA
900| Tc =  18.4 SHEAR= 49. N\ A A BN S
SREH = 0 LAPSE= 4. 8\)/\ N \/ \ \~/ T
1000| CELL = 310/38 A

Parcel




2013 Horsepool (snow)
Fest:  32.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98

X,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

200

300

400

500 Parcel Info
T = 8.6 Td =
600]| LI 144 LCL
K -11 LFC 4
T = 20 EL =
700| gy1 = 22.4 cclL =
PW =  0.52 VGP =
800| CAPE = 0 SWEAT=
CIN = 0 HWBZ= /
900| Tc 19.0 SHEAR= 49. _~
SREH = 0 LAPSE= 4.8 \)/
1000| CELL = 310/38

Init: 0000 UTC Fri O1 Feb 13
Valid: 0800 UTC Sat 02 Feb 13 (0100 MST Sat 02 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full bar?:
5ms”

o

LELFE £ E




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest:  33.00 h Valid: 0900 UTC Sat 02 Feb 13 (0200 MST Sat 02 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47
Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47
Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47
N Full barb:

5ms

100

200

300

o

400

500

T = 8.6 Td =
600 LT = 14.6 LCL
K = 11 LFC
T = 20 EL
700| sy1 = 22.4 ccL
PW =  0.52 VGP .
800/ cAPE = 0 SWEAT= 4
CIN = 0 HWBZ= 0. |
900| Te = 19.3 SHEAR= 51, oyl N\ N A S _
SREH = 0 LAPSE= 4.9 \)/\ AN /‘\:\/\ VN
1000| CELL = 310/38 NS AN ANV A 4 A VA




2013 Horsepool (snow)
Fest:  34.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98

X,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1000 UTC Sat 02 Feb 13 (0300 MST Sat 02 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

Full bar?:
5ms”

200

300

400

500

Parcel Info

T = -84 Td
600| LT =  14.8 LCL =
K = -11 LFC =
TT = 20 EL = :
700| sy1 22.3 CCL = 576, N -
PW = 0.51 VGP = 0.0 X ))
800| CAPE = 0 SWEAT= 41 > L T A Do A7 I \¥
CIN 0 HWBZ= : \ &7 / \\ /\ \\ ‘l/‘%'r\ ,' 7
900| Tc = 19.5 SHEAR- 50, N N TARNE ZA RS e
SREH = 0 LAPSE= 4. 8\)/ N /\/§\/ N \\~/ VN A
1000 CELL = 370/38 N 74 A N VA W 4 W S




2013 Horsepool (snow)
Fest:  35.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1100 UTC Sat 02 Feb 13 (0400 MST Sat 02 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

Full barl?:
5ms”

200

300

400

500

T = -85 Td-=
600| L1 =  15.3 LCL
K = ~12 LFC
TT = 20 EL
700| sw1 = 22.4 cCL = 572.
PW =  0.50 VGP = 0.0 \
800| CAPE = 0 SWEAT= 41> WY -

CIN = 0 HWBZ= 0. N p~7 ANV \l/\[lr‘ LA
900| Te =  19.8 SHEAR= 51. AN N A S s S
SREH = 0 LAPSE= 4.8 \)/\\\ N /‘\/ X T T
1000/ CELL = 309/38 N A A N VA W A B A v




2013 Horsepool (snow)
Fest:  36.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1200 UTC Sat 02 Feb 13 (0500 MST Sat 02 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

200

300

400

500

Full barl?:
5ms”

-8.1

Td

600 LI = 15.7 LCL
K = -12 LFC
TT = 20 EL
700| sy1 = 22.1 ccL
PW = 0.49 VGP
800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ=
900]| Tc = 20.0 SHEAR=
SREH = 0 LAPSE=
1000/ CELL = 308/38




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest:  37.00 h Valid: 1300 UTC Sat 02 Feb 13 (0600 MST Sat 02 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Fgllmbaslj?:

100

200

300

400

500

-8.0
600 LI = 16.2 LCL =
K = -14 LFC =
TT = 21 EL =
700| gy1 = 22.0 ccL =
PW = 0.49 VGP =
800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ=
900]| Tc = 20.2 SHEAR=
SREH = 0 LAPSE=
1000/ CELL = 306/38




2013 Horsepool (snow)

Fest:

38.00 h

Temperature
Dewpoint temperature

Horizontal wind vectors x,y=175.85,156.98

100

200

300

400

500

600

700

800

900
1000

Init: 0000 UTC Fri O1 Feb 13
Valid: 1400 UTC Sat 02 Feb 13 (0700 MST Sat 02 Feb 13)
x,y=175.85,156.98 lat,lon= 40.14,-109.47
x,y=175.85,156.98 lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

Td
LCL
LFC
EL
.8 CCL .

- .48 VGP 0 N o \ =
CAPE = 0 SWEAT= 39> > AN/l N VA \\ V\ [|/ l“~ - LS
CIN. 0 HWBZ= 0.2 2 TN )/ N ¥ / -
Te =  20.5 SHEAR= 48, ™. VAR N N4 A SN B BN S
SREH = 0 LAPSE= 5.2 \)/‘\ 2 /y\/ \ S /* S
CELL = 305/3 e DN V% W, ¥ s L 21 -

NS AR \ [ | b L




2013 Horsepool (snow)
Fest:  39.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1500 UTC Sat 02 Feb 13 (0800 MST Sat 02 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

200

300

400

500

Full barl?:
5ms”

Td

600 7 LCL =
K = -17 LFC =
TT = 21 EL =
700| gy1 = 21.7 ccL =
PW = 0.47 VGP =
800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ=
900]| Tc = 20.3 SHEAR=
SREH = 0 LAPSE=
1000| CELL = 304/3




2013 Horsepool (snow)
Fcst:  40.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1600 UTC Sat 02 Feb 13 (0900 MST Sat 02 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

N Full bark:

200

300

400

o

500

T = 7.4 Td-=
600| LT =  16.8 LCL
K ~18 LFC
TT = 21 EL
700| syr = 21.7 ccL
PU = 0.47 VGP
800| CAPE = 0 SWEAT=
CIN = 0 HWBZ-=
900| Tc 20.2 SHEAR= 47. .
SREH = 0 LAPSE= 5.7 \)/
1000| CELL = 303/39

AN




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest:  41.00 h Valid: 1700 UTC Sat 02 Feb 13 (1000 MST Sat 02 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47
Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47
Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47
N Full barb:

5ms

100

S~

200

300

o

400

500

Parcel Info

T = -72Td= -
600[ L1 = 17.0 LCL =

K = -18 LFC =

TT = 21 EL =
700| sy1 = 21.7 ccL =

PW =  0.47 VGP = 0.0
800/ CAPE = 0 SWEAT= 37 %

CIN = 0 HWBZ= 0. \\ / ﬁ
900| Te = 20.2 SHEAR= 45.

SREH = 0 LAPSE= 5.8 / /\/‘\
1000| CELL = 301/39 >




2013 Horsepool (snow)
42.00 h

Fest:
Temperature

Dewpoint temperature
Horizontal wind vectors x,y=175.85,156.98

100

200

300

400

500

600

700

800

900
1000

x,y=175.85,156.98
x,y=175.85,156.98

o

fadalla

Init: 0000 UTC Fri O1 Feb 13
Valid: 1800 UTC Sat 02 Feb 13 (1100 MST Sat 02 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full bar?:
5ms”

/F

FFFE F

16
Parcel Info

T = 6.6 Td =

L1 = 16.9 LCL =

K = 17 LFC =

TT = 22 EL =

SW1 21.0 CCL =

PW =  0.48 VGP =

CAPE = 0 SWEAT= :

CIN 0 HWBZ= 0. /f\/\\ /\

Te = 20.2 SHEAR= 46. NN

SREH = 0 LAPSE= 6. o\)/ /\/‘\\A \

CELL = 300/39 NN Mal




2013 Horsepool (snow)
Fcst:  43.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1900 UTC Sat 02 Feb 13 (1200 MST Sat 02 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

Full barl?:
5ms”

200

/P

300

FFFE F

o

FEL

400 Y
76
500
T = -5.9 Td
600| LI = 17.0 LCL =
K = -16 LFC =
T = 23 EL =
700| sy1 = 20.3 cCL = .
PW = 0.47 VGP = / A
800/ CAPE = 0 SWEAT= A
CIN = 0 HWBZ= 2NN\ AN
N N ) ~\
900! Tc = 20.7 SHEAR= 46. > — > v ot
SREH = 0 LAPSE= 6.0 \)/\ /\/‘\:\/\ \ )\/
1000/ CELL = 298/38 RN




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fcst:  44.00 h Valid: 2000 UTC Sat 02 Feb 13 (1300 MST Sat 02 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full barl?:
5ms”

100

/ﬁ

200

FFF E

300

o

el

400

500

-5.8

600| LI = 16.9
K = -14

TT = 24

700\ sy1 = 20.0
PW = 0.48

800/ CAPE = 0
CIN = 0

900! Tc = 20.9
SREH = 0
1000| CELL = 296/37




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fcst:  45.00 h Valid: 2100 UTC Sat 02 Feb 13 (1400 MST Sat 02 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full ba(?:
S5ms
100

200

300

o

400

500

Parcel Info

T = 56 Td = -6.3
600| LI = 16.8 LCL 762.
K = -12 LFC 0.
T = 24 EL 0.
700| sy1 = 19.9 ccL 547 .
PW = 0.49 VGP = 0.0
800/ CAPE = 0 SWEAT= 33 .
CIN = 0 HWBZ= \\
900/ Tc = 21.3 SHEAR= 44 ~
SREH = 0 LAPSE= 5.9 \)/ N
1000| CELL = 295/37 s




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fcst:  46.00 h Valid: 2200 UTC Sat 02 Feb 13 (1500 MST Sat 02 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

N Full bark:

100

200

300

o

400

500

Parcel Info

T = -5.1 Td = -5.8 \ X\,
600| LT = 16.7 LCL = 755. >

K = -11 LFC = 0.

T = 24 EL = 0.\
700| sy1 = 19.7 CCL = 541. K

PW = 0.49 VGP = 0.0/
800| CAPE = 0 SWEAT= 37

CIN = 0 HWBZ= 0.~ \%\Q(
900| Te = 21.7 SHEAR= 43

0 LAPSE- 60\)/\ /\/V\/ \ /\ /A
293/37 L *r\

w
O
m
T
1l

1000]| CELL




2013 Horsepool (snow)
Fcst:  47.00 h
Temperature

Dewpoint temperature

100

x,y=175.85,156.98
x,y=175.85,156.98
Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 2300 UTC Sat 02 Feb 13 (1600 MST Sat 02 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full bar?:
5ms”

200

AN

300

400

o

500

Parcel Info

T = 5.4 Td =
600 LI = 16.8 LCL =
K = -11 LFC =
T = 24 EL =
700| sy1 = 19.8 ccL = 536
PW = 0.49 VGP =
800/ CAPE = 0 SWEAT= 34\
CIN = 0 HWBZ= 0.
900| Tc = 22 1 SHEAR= 43
SREH =
1000| CELL = 291/37

0 LAPSE= 6. o\)/\ DAY S




2013 Horsepool (snow)
Fcst:  48.00 h

Init: 0000 UTC Fri O1 Feb 13
Valid: 0000 UTC Sun 03 Feb 13 (1700 MST Sat 02 Feb 13)

Temperature
Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

100 4\
200
300 Ay |
. Q
400 Q
500
-5.4 Td
600| LI = 16.8 LCL =
K = -10 LFC =
TT = 24 EL =
700| sy1 = 19.7 ccL =
PW = 0.49 VGP = 0.0 X
800/ CAPE = 0 SWEAT= 33
CIN = 0 HWBZ= 0. . .
900| Tc = 22.4 SHEAR= 39. A
SREH - 0 LAPSE= 6.0 \)/
1000| CELL = 290/37 _ N




2013 Horsepool (snow)
Fcst:  49.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 0100 UTC Sun 03 Feb 13 (1800 MST Sat 02 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

200

300

400

500

600| LI = 16.9 LCL _
K = -11 LFC = 0.
T = 23 EL = 0.\
700| syt 20.0 CCL =
PW = 0.49 VGP =
800/ CAPE = 0 SWEAT=
CIN 0 HWBZ= . \/Tv\
900/ Tc = 22 .4 SHEAR= 39
SREH = 0
1000| CELL = 289/38

Full bar?:
5ms”

/A

EEF F F

o

0

falalla

Parcel
-5.9

Info

Td = -6

I

~!
Ul -
o

\\\ \\\\\\\\ \\ \ ‘l ~ ~ /
N A VAT N L
L2 N3 N Y e | 205 W

535 p 24N T
N\ \ R N
'X\//\//(K/téy /
32 b ; Iv2

ES S e %
)\// T 7 /

\
/// x\\ //\/ \\/
A \ RS

|
S T T VA T <7 <2
LAPSE= 6.1 \)/‘\ / \/ 'S /x\ e /‘K\ g
ANEEAN S \ \ \ L L [ Ny




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fcst:  50.00 h Valid: 0200 UTC Sun 03 Feb 13 (1900 MST Sat 02 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full barq
5ms
100
200
AA\
N
300 My
. Q
b
400 \Qﬁ
500 Parcel Info
T = -6.0Td =
600| LI =  17.1 LCL =
K = -11 LFC =
T = 23 EL = :
700| sy1 = 20.1 cCL = 533.
PW =  0.49 VGP = 0.0 N
800/ CAPE = 0 SWEAT= 34 R
CIN = 0 HWBZ=  0.% ﬁ\
900| Tc = 22.7 SHEAR= 36. > S
SREH = 0 LAPSE= 6.1 \)/
1000| CELL = 287/37 —




2013 Horsepool (snow)
Fest:  51.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98
Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 0300 UTC Sun 03 Feb 13 (2000 MST Sat 02 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barq
S5ms
100 4\
200
My |
300 M
. Q
A
400 \QLLLLLt
500 - .
Parcel Info
T = 6.0 Td =
600| LI =  17.1 LCL =
K = -11 LFC =
TT = 23 EL =
700| sy1 = 20.2 CCL = 529. : =
PW = 0.48 VGP = 0.0
800| CAPE = 0 SWEAT= 36\ / /
CIN = 0 HWBZ= /Q\ / Xi
900| Tc = 22.9 SHEAR= 35 y ] N -
SREH = 0 LAPSE= 6. o\)/ '\ /\/(\/ \ /
1000| CELL = 285/37 \ “f\




2013 Horsepool (snow)
Fest:

52.00 h

Temperature
Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98
Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 0400 UTC Sun 03 Feb 13 (2100 MST Sat 02 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”
100 4\
200
M|
300 A |
. Q
A\‘\
400 @ut
500 —— 8 ~ gy
Parcel Info A)Q
T = -6.1 Td
600| L1 =  17.2 LCL = v L\/>\
K = -11 LFC =
TT = 23 EL - K RS
700| sy1 = 20.3 ccL = T
PW =  0.48 VGP = : . &
800| CAPE - 0 SWEAT= / /
CIN = 0 HWBZ= / Q\ ///\ //\/\\( \l/\[lr“ lI / \4
900| Tc = 22.9 SHEAR= N A e e S
SREH = 0 LAPSE= 5.9 \)/ \ /\/‘\ ‘v \ /\ , \/L\ | /
1000| CELL = 283/37 \ *r\ \ ‘\" hS \L/ lI SN S




2013 Horsepool (snow)
Fecst:  53.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98

X,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 0500 UTC Sun 03 Feb 13 (2200 MST Sat 02 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

N Full bark:

100 4}\
200
N |
300 S My,
Ay |
400 \QM
500 . =
Parcel Info
T = 6.2 Td =
600| LI =  17.4 LCL =
K = -11 LFC =
TT = 23 EL = »
700| sy1 = 20.5 cCL = ) =
PW = 0.47 VGP = 0.0 ¢
800/ CAPE = 0 SWEAT= 31 s / /
CIN = 0 HWBZ=  0.° . Ao D
900| Tc = 23.2 SHEAR= 31. > AN A — e —
SREH = 0 LAPSE= 5. 8\)/ '\ /\/V\/ \ /\ RN /
1000/ CELL = 281/36 L SL/ — S




2013 Horsepool (snow)

Fest:

54.00 h

Temperature

Dewpoint temperature
Horizontal wind vectors x,y=175.85,156.98

100

200

300

400

500

600

700

800

900
1000

x,y=175.85,156.98
x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 0600 UTC Sun 03 Feb 13 (2300 MST Sat 02 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

N Full bark:

FFFE F

o

FEFF

Parcel

T = -6.2
LT = 17.5
K = -12
T = 23
SWI = 20.4
PW = 0.46
CAPE = 0
CIN = 0
Tc = 23.3
SREH = 0
CELL = 279/36

Info

Td =
LCL
LFC
EL

CCL
VGP =
SWEAT=
HWBZ=
SHEAR= 30

S T T VA T ~3 Y
LAPSE= 5.9 tx// / \//>( 'S /X/<\~\ /- . | //f<\ e
\ \ \ \ \ qr\ s ‘\ L S \




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fcst:  55.00 h Valid: 0700 UTC Sun 03 Feb 13 (0000 MST Sun 03 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

N Full barb:

100 4\
200
NN
AW,
300
N o M|
N
W
400
. w |
500
T =  -6.4 Td
600| LI = 17.7 LCL
K = -12 LFC
T = 22 EL
700| sy1 = 20.6 cCL
PW =  0.47 VGP
800| CAPE = 0 SWEAT= /
CIN = 0 HWBZ= V
900| Tc = 23.4 SHEAR= R B
SREH = 0
1000!| CELL = 276/35 _




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fcst:  56.00 h Valid: 0800 UTC Sun 03 Feb 13 (0100 MST Sun 03 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

N Full barb:

100

/P

200

FEF F F

300

o

N
W
400
\\ L
500
T =  -6.5Td =
600| LI = 17.9 LCL =
K = -13 LFC =
T = 22 EL =
700| sy1 = 20.8 cCL =
PW =  0.47 VGP =
800/ CAPE = 0 SWEAT=

CIN 0 HWBZ NV AN />// S A / x'r\ l
900| Tc =  23.4 SHEAR= 25. ) N4 o . .

|
A 4 \ VT ST T 17 -
0 LAPSE= 5.9 \)/‘\\ IS /V\/ \ SR /* S
274/35 > AT bl

NS AR \

w
O
m
T
1l

1000]| CELL




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest:  57.00 h Valid: 0900 UTC Sun 03 Feb 13 (0200 MST Sun 03 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full barl?:
5ms”

100

200

FFFFE

300

o

Ny |
W\ |
400
. Wy
500
6.6 Td
600| L1 =  17.7 LCL =
K -14 LFC =
TT = 22 EL =
700\ sy1 = 20.7 ccL =
PW =  0.48 VGP =
800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ= _ | :
900| Tc 23.0 SHEAR= 25. S v A a— s
SREH = 10 LAPSE= 6.0 S0 A\ N O\ L S b -
1000 CELL = 272/36 N A N AN VA W A4 I A WA




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fcst:  58.00 h Valid: 1000 UTC Sun 03 Feb 13 (0300 MST Sun 03 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47
Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47
Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47
N Full barb:

5ms

100 AK
N
200
AN
NN
300 AL
) Q
A
W
400 N
N Wy |
500 : .
Parcel Info
T = 6.6 Td= -
600| LI = 17.7 LCL = =
K = -15 LFC = M
TT = 23 EL - \ : -
700| sy1 = 20.5 cCL = z: . i
PW = 0.49 VGP = =t R ’ \J/
800/ CAPE = 0 SWEAT= W A S AT E I
CIN = 0 HWBZ= 0.5 2% N AN VA A DS
~\ \ “\ \ ~\ i | M . ~
900! Tc = 22.8 SHEAR= 23. S < N B\ S NWAVAN VAR N - -
SREH = 13 LAPSE= 6.0 M0 A A\ s L by b -
1000 CELL = 271/3/ NN Y A =




2013 Horsepool (snow)
Fest:  59.00 h
Temperature

Dewpoint temperature

Init: 0000 UTC Fri O1 Feb 13
Valid: 1100 UTC Sun 03 Feb 13 (0400 MST Sun 03 Feb 13)

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

200

300

400

500

Td
LCL
LFC
EL
CCL
VGP

-6.7
17.4
-15
23
20.1
0.49

800 0

600

700

CIN = 0 HWBZ= 0.5 X
900| Tc =  22.6 SHEAR= 22,
SREH = 17
1000| CELL = 269/37

74 X A\ Y~
LAPSE= 6.1 \)/~\ / /(/ S
ANV 4

NS




2013 Horsepool (snow)
Fcst:  60.00 h
Temperature

Dewpoint temperature

Init: 0000 UTC Fri O1 Feb 13
Valid: 1200 UTC Sun 03 Feb 13 (0500 MST Sun 03 Feb 13)

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full bar?:
5ms”

100
200
300
400
500 - >
Parcel Info
T = 6.8 Td-=
600[ L1 = 17.1 LCL =
K = 16 LFC =
TT = 24 EL =
700| sy1 = 19.9 ccL = . | -
PW =  0.50 VGP = 0.0 SgL/ LS R 7 =~ /
800/| CAPE = 0 SWEAT= 21 > ED7AN A Lo A [ <
CIN = 0 HWBZ= 0.5 //\\/ ///\ AVAN! ‘l/‘%'r\ ,' / -
900| Te =  22.2 SHEAR= 18. AR\ (25 NS NIVASEE] SN A S N -
SREH = 20 LAPSE= 6.3 N0 A At s L Sy L
1000| CELL = 268/36 N 74 A v A S i R [ oy =




2013 Horsepool (snow)
Fest:  61.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1300 UTC Sun 03 Feb 13 (0600 MST Sun 03 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

Full barl?:
5ms”

200

300

400

500

6.8 Td
600| L1 =  16.7 LCL
K = -17 LFC
T = 25 EL
700] sy1 = 19.5 ccL _ \
PW = 0.51 VGP = 0.0 *QQL/ A (7 \/ e
800/| CAPE = 0 SWEAT= 21 > SE7AN A Do A7 I </
CIN = 0 HWBZ= 0. A% ///\ VAN \l/\[lr“ ,'
900| Tc =  21.5 SHEAR= 18. N LN ANV SN ZAVE BN e
SREH = 24 LAPSE= 6.5 \)/‘\ /N /(\/ VL \/*\ e
1000 CELL = 266/36 SN 7 A N VA W 7 N LA




2013 Horsepool (snow)
Fecst:  62.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98

X,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 1400 UTC Sun 03 Feb 13 (0700 MST Sun 03 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

200

300

400

500

600| LT = 16.2 LCL
K = -17 LFC
T = 25 EL
700| sy1 = 19.1 ccL
PW = 052 VGP = 0.0 8
800/ CAPE = 0 SWEAT= 17 % > \ A Do A7 [ A
CIN = 0 HWBZ= 0. \\//\\ /~ \ N \l/\xlr\ LA
900| Tc =  20.9 SHEAR= 17 VAVA VSN AV B T =
SREH = 20 LAPSE= 6. 7\)/ o /\/</ \ /\ e
1000| CELL = 264/35 N ‘\" > L I

-6.9




2013 Horsepool (snow)
Fecst:  63.00 h

Init: 0000 UTC Fri O1 Feb 13
Valid: 1500 UTC Sun 03 Feb 13 (0800 MST Sun 03 Feb 13)

Temperature
Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms™
100 AJ\
A
200
NN\
NN
300\ o N
Ny
400 O
\ N\
=
500
N NS
E DN
600 LcL R
LFC .
EL RS
" - 0.3 T
800/ CAPE 0 SWEAT= 19 . AN i _ ]
CIN = 0 HWBZ= 0. A ///\ /\ ‘\\ \l/\[lr“ ,' 74
900| Tc = 20.3 SHEAR= 18. . VAR N N A e s RN S
SREH = 9 LAPSE= 6.7 \)/*\ N /(\1 N S /‘\ i
= N e\ P N .
1000 CELL = 263/35 N 7N A N V7 A W A7 N LA W




2013 Horsepool (snow)
Fcst:  64.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1600 UTC Sun 03 Feb 13 (0900 MST Sun 03 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

200

300

400

500
4 Td
600| LI =  15.8 LCL
K = -15 LFC
TT = 27 EL
700f sw1 = 18.3 cCL . 4 |
PW =  0.58 VGP = 0.0 B A oS S A SN
800/| CAPE = 0 SWEAT= 17 x SE7AN A \\ T\ [|/ |\“
CIN = 0 HWBZ= 0.5 N A\ ///\ VAV /
900| Tc = 19.6 SHEAR= 19. WA Nyt A Y A
SREH = 0 LAPSE= 6.7 S70N A\ A\ L S b -
1000 CELL = 262/35 N 74 A N VA W 4 N LA A

Full barl?:
5ms”

o




2013 Horsepool (snow)
Fcst:  65.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1700 UTC Sun 03 Feb 13 (1000 MST Sun 03 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

200

300

400

500

600 LI = 15.4 LCL
K = -14 LFC
TT = 27 EL
700| sy1 = 17.9 ccL
PW = 0.60 VGP
800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ=
900]| Tc = 18.8 SHEAR=
SREH = 0 LAPSE=
1000| CELL = 262/34

Full barl?:
5ms”

Td




2013 Horsepool (snow)
Fcst:  66.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1800 UTC Sun 03 Feb 13 (1100 MST Sun 03 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

200

300

400

500

600 L1 = LCL
K =  -13 LFC
TT = 29 EL
700] sy1 = 17.2 ccL
PW = 0.62 VGP
800| CAPE = 0 SWEAT=
CIN = 0 HWBZ= S \/(
900| Tc = 18.2 SHEAR= 25.
SREH = 0 LAPSE= 6.9 \)/
1000| CELL = 263/34

Full barl?:
5ms”

Td




2013 Horsepool (snow)
Fecst:  67.00 h
Temperature

Dewpoint temperature

Init: 0000 UTC Fri O1 Feb 13

Valid: 1900 UTC Sun 03 Feb 13 (1200 MST Sun 03 Feb 13)

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms™
100 M\
N
AN
200
W
W
300
QW
-
AW
400 Y
N AN\
500
2 Td
600 LI = 14.5 LCL
K = -13 LFC
TT = 29 EL
700| sy1 = 17.0 ccL
PW = 0.64 VGP
800/ CAPE = 0 SWEAT= : _ _ — -
CIN = 0 HWBZ= 0.~ 2 R N A
. _ NN Lo
900| Tc 18.1 SHEAR . N e e — =
SREH = 0 LAPSE= 6.9 \)/‘\ /\/z\\/\ \ \\x /) &‘ } |
= N AR s SN S
1000| CELL = 264/32 N YA AN VA N A I A VA




2013 Horsepool (snow)
68.00 h

Fest:
Temperature

Dewpoint temperature
Horizontal wind vectors x,y=175.85,156.98

100

200

300

400

500

600

700

800

900
1000

x,y=175.85,156.98
x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 2000 UTC Sun 03 Feb 13 (1300 MST Sun 03 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full bar?:
5ms”

F T F F

PP

267/30

Td
LCL

LFC
EL

CCL .

VGP = 0.0
SWEAT= 25
HWBZ= 0.
SHEAR= 26. _

o

LAPSE= 7.1 tx4%
\




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest:  69.00 h Valid: 2100 UTC Sun 03 Feb 13 (1400 MST Sun 03 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full bar?:
5ms”

100 AJ\
A |
Ny
200
W —
W
3001 o
AN\
400 QL
N
. W]
500 - .
Parcel Info
T =  -4.0Td-=
600| LI =  13.3 LCL =
K = -10 LFC =
T = 31 EL =
700| sw1 = 15.4 cCL =
PW = 0.59 VGP =
800/ CAPE - 0 SWEAT= -
CIN = 0 HWBZ= V |
900| Tc = 17.6 SHEAR= 24. S /24 S\ e A DN _
SREH = 0 LAPSE= 7. o\)/ /\ R N i S i N i
- AR
1000| CELL = 272/27 AT A




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest:  70.00 h Valid: 2200 UTC Sun 03 Feb 13 (1500 MST Sun 03 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Fgllmbaslj?:

100

/?

F

i

200

300

FEF 7 ¢

400

500

b S

-3.8

600| LI = 13.1
K = -8

TT = 32

700\ sy1 = 14.9
PW = 0.60

800/ CAPE = 0
CIN = 0

900! Tc = 17.7
SREH = 0
1000| CELL = 280/24




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest:  71.00 h Valid: 2300 UTC Sun 03 Feb 13 (1600 MST Sun 03 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full barb:
5ms
100
m\
N
200
N
W
300
\ S Wy |
400 o
500 . .
Parcel Info
T = 4.3 Td = -5.1
600 LI = 13.1 LCL = 718.
K = -6 LFC = 0.
TT = 31 EL = 0.
700| sy1 = 15.6 CCL = 557,
PW = 0.50 VGP = 0.0
800/ CAPE = 0 SWEAT= 25
CIN = 0 HWBZ= 0. \\
900]| Tc = 17.8 SHEAR= 23. _
SREH = 0 LAPSE= 6.8 \)/
1000| CELL = 290/22 S




2013 Horsepool (snow)
72.00 h

Fest:

Temperature

Dewpoint temperature

100

200

300

400

500

600

700

800

900
1000

Init: 0000 UTC Fri O1 Feb 13
Valid: 0000 UTC Mon 04 Feb 13 (1700 MST Sun 03 Feb 13)

x,y=175.85,156.98 lat,lon= 40.14,-109.47
x,y=175.85,156.98 lat,lon= 40.14,-109.47
Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full barl?:
5ms”

~

o

/&

Td =

LcL = 721, -
LFC = Of

EL o= O\

CCL = 562.

VGP = 0.0
SWEAT= 28 >
HWBZ= 0.5
SHEAR= 23.

>
9o

e




2013 Horsepool (snow)
Fest:  73.00 h
Temperature

Dewpoint temperature

Init: 0000 UTC Fri O1 Feb 13
Valid: 0100 UTC Mon 04 Feb 13 (1800 MST Sun 03 Feb 13)

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

2

200

N

300

400

500

600

700

800

900]| Tc = 18.2 SHEAR=
SREH = 0

1000| CELL = 315/20

23.

b
/
/
|-
|

AN N T Y
LAPSE= 7.0 \)/\ /\/(\\4 \ 4
¥

NS




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fcst:  74.00 h Valid: 0200 UTC Mon 04 Feb 13 (1900 MST Sun 03 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Fgllmbaslj?:

100

%

200

300

400

500

T 6.8 Td
600| LT =  13.4 LCL =
K = 13 LFC =
T = 27 EL =
700| sy1 = 18.2 cCL =
PW =  0.53 VGP =
800/ CAPE = 0 SWEAT= £ A _

CIN = 0 HWBZ= N & /// \ v \l/r lI \ \
900| Tc = 17.9 SHEAR= 23. AR V40 N VAN N 72 SN \\ -
SREH = 0 LAPSE= 7.0 \)/\\\ N /‘\/ X T T
1000 CELL = 326719 N A N AN VA W A4 I A WA




2013 Horsepool (snow)
Fest:  75.00 h

Init: 0000 UTC Fri O1 Feb 13
Valid: 0300 UTC Mon 04 Feb 13 (2000 MST Sun 03 Feb 13)

Temperature
Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

200

300

400

500

-6.4 Td

600| LI 12.9 LCL o

K -9 LFC : -

1T = 29 EL = O )20 05 N
700 sy1 = 17.3 ccL = 571, AN WY 0 e

PW =  0.49 VGP = O'OW A sl oy A A
800/| CAPE = 0 SWEAT= 27 . SEV7AN A Do A7 I s

CIN = 0 HWBZ= 0. N 2\ W ///\ VAN ‘l/‘%'r\ ,'
900/ Tc 17.0 SHEAR= 24. WA PN V4 G S A B RN

SREH = 0 LAPSE= 6.8 \)/‘\ AN /(\‘;/\ . \/x‘ T
1000 CELL = 340/21 SN 7 A N VA W 7 R S




2013 Horsepool (snow)
Fest:  76.00 h

Init: 0000 UTC Fri O1 Feb 13
Valid: 0400 UTC Mon 04 Feb 13 (2100 MST Sun 03 Feb 13)

Temperature
Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full bar?:
5ms”

%

200

300

400

>00 Parcel Info
T = -6.6 Td =

600| LI = 13.7 LCL =
K = -14 LFC =
1T = 27 EL =

700| sy1 = 18.1 cCL =
PW = 0.47 VGP =

800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ=

900]| Tc = 18.7 SHEAR=
SREH =

1000| CELL =

-6.6

S
25

25

7 D
-\/**'/ AP
\ /\‘\
\/(\

0 LAPSE= 6.5 tx4f
352/23

\ ﬁ‘x \




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest:  77.00 h Valid: 0500 UTC Mon 04 Feb 13 (2200 MST Sun 03 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full barb:
5ms
100

200

300

WY YT

400

500 Parcel Info '\)Q

T = -6.6 Td= -6.6 \>\
600| L1 = 15.1 LCL = 750. Ve

K = -15 LFC =

TT = 26 EL = « W
700| sw1 = 18.6 CCL = 5 3

PW = 0.45 VGP = 0. ‘\

= 0 SWEAT= 24

800/ CAPE :
CIN = 0 HWBZ= _ \/(\
900]| Tc = 19.4 SHEAR= 21 B\

Y ) .
30 LAPSE= 6. 7\)/ \ /\/‘\/ \ /\ RN /
1000| CELL = 355/26 " ASEEVAEEN N

w
O
m
T
1l




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fcst:  78.00 h Valid: 0600 UTC Mon 04 Feb 13 (2300 MST Sun 03 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full barb:
5ms
100

200

300

A BT

400

500

Parcel Info

T = 6.8 Td =
600 LI = 14.8 LCL =

K = -14 LFC =

T = 26 EL =
700| sy1 = 18.7 cCL =

PW = 0.45 VGP = .0
800/ CAPE = 0 SWEAT= 23

CIN = 0 HWBZ= 0. \/(Y /// \ /// A \l/[lr‘ LA
- AN N - . ~— .
900| Tc = 19.4 SHEAR= 25 ) AN VAN _
50 LAPSE= 6. 6\)/ \ A/ﬁ/ \ S /L/ R -
354/27 \ A =

1000]| CELL




2013 Horsepool (snow)
79.00 h

Fest:
Temperature

Dewpoint temperature

100

200

300

400

500

600

700

800

900
1000

Init: 0000 UTC Fri O1 Feb 13
Valid: 0700 UTC Mon 04 Feb 13 (0000 MST Mon 04 Feb 13)

x,y=175.85,156.98 lat,lon= 40.14,-109.47

x,y=175.85,156.98 lat,lon= 40.14,-109.47
Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full bar?:
5ms”

Parcel

Info

-7.2 1d =
14.6 LCL =
-14 LFC =
26 EL =
19.2 CCL =
0.45 VGP =
0 SWEAT=
0 HWBZ=
19.5 SHEAR=

. . - N
69 LAPSE= 6. 6\)/ \ A/ﬁ/ \ / ARSI /
352/27 — A =

546 .
0.0
25 2

N L AU 4
N2 \ //} \ //\/ \ / .
28 \\/T—Y\ * i r - ‘! - -




2013 Horsepool (snow)
Fcst:  80.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 0800 UTC Mon 04 Feb 13 (0100 MST Mon 04 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

200

300

400

500

Full barl?:
5ms”

Td

600 LI = 15.1 LCL =
K = -14 LFC =
TT = 25 EL =

700| sy1 = 19.3 cCcL =
PW = 0.45 VGP =

800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ=

900]| Tc = 19.5 SHEAR=
SREH = 83

1000| CELL = 349/26

by . \

AVARL
LAPSE= 6.6 \)/~\ D /‘/ \
NS \\ A \ ‘\~\

NS

-

/
g
—




2013 Horsepool (snow)
Fest:  81.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98

X,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 0900 UTC Mon 04 Feb 13 (0200 MST Mon 04 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full bar?:
5ms”

200

300

400

500

Parcel Info

T = 7.2 Td =
600 LI = 15.7 LCL
K = -14 LFC
TT = 24 EL
700| sy1 = 19.9 ccL
PW = 0.46 VGP
800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ=
900]| Tc = 20.1 SHEAR=
SREH = 82
1000| CELL = 344/25

35\

33

. PN | A | X
i N i, T ey
\ ] Y

\
LAPSE= 6. 3\)/\ /(/ S
NG \ ‘~\\ \ ‘\~\
)

NS




2013 Horsepool (snow)
Fcst:  82.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98

X,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1000 UTC Mon 04 Feb 13 (0300 MST Mon 04 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

Full bar?:
5ms”

200

300

400

500

T = 7.1 Td =
600 LI = 16.0 LCL =
K = -13 LFC =
T = 23 EL =
700| sy1 = 20.2 ccL =
PW = 0.48 VGP =
800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ= 0.5 N0 AN
900| Tc = 20.4 SHEAR= 30.
SREH = 95
1000| CELL = 338/25

Parcel

Info

)
LAPSE= 60\)/\ /\/</ \ \‘\\*/ |
¥




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fcst:  83.00 h Valid: 1100 UTC Mon 04 Feb 13 (0400 MST Mon 04 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full barl?:
5ms”

100

&%

200

300

400

500
-7.0 Td
600 = 17.0 LCL
-15 LFC
22 EL
700 20.8 CCL

= 0.48 VGP
800 0 SWEAT=

0 HWBZ= . DA, /// A “/ B .
900| Tc = 21.6 SHEAR= 31. N O N A S

|
) A 4 \ \~\ v ST T \\ -
81 LAPSE= 5.9 \)/‘\\ A\ /v\/ \ S RVAR /* |
332/25 i A e T

w
O
m
T
1l

1000]| CELL

e
A
Y
/
rd
—~
/
&
—




2013 Horsepool (snow)
Fcst:  84.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 1200 UTC Mon 04 Feb 13 (0500 MST Mon 04 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

&%

200

300

400

500

-7.2 Td

600 LI = 17.7 LCL =
K = -16 LFC =
TT = 22 EL =
700| gy1 = 21.2 ccL =
PW = 0.48 VGP =
800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ=
900]| Tc = 22.4 SHEAR=
SREH = 68 LAPSE=
1000| CELL = 327/26

O.\\ N /2N

33.

5.7




2013 Horsepool (snow)
Fcst:  85.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98

X,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 1300 UTC Mon 04 Feb 13 (0600 MST Mon 04 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full bar?:
5ms”

%

200

300

400

500

Parcel Info

T = 7.3 Td =
600 LI = 18.2 LCL =
K = -17 LFC =
T = 21 EL =
700| sy1 = 21.4 ccL =
PW = 0.48 VGP = 0
800/ CAPE = 0 SWEAT= 33
CIN = 0 HWBZ= 0.~ \\/\&
900| Tc = 22 .7 SHEAR= 34.
SREH = 56
1000| CELL = 325/28

ARV \./[l oA
//: A\ \ /\ ‘ . ‘!

\
LAPSE= 5.8 \)/\ / " -
NG N \\ \ ‘\~\
)

NS




2013 Horsepool (snow)
Fcst:  86.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98

X,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1400 UTC Mon 04 Feb 13 (0700 MST Mon 04 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

Full barl?:
5ms”

200

300

400

500

600| LI = 18.3 LCL
K = -18 LFC
TT = 21 EL
700| sy1 = 21.7 ccL
PW = 0.49 VGP
800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ=
900]| Tc = 22.7 SHEAR=
SREH = 30
1000| CELL = 323/29

-7.6

\ //\/\(

S\
LAPSE= 58\)/\/\/</\ )\/
\

uoo
VAN i
R /* . .
Y RS
i 3

\
) [ A X I




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fcst:  87.00 h Valid: 1500 UTC Mon 04 Feb 13 (0800 MST Mon 04 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full barb:
5ms
100

200

300

400

500
600 .
K = -18 LFC =
TT = 20 EL =
700| sy1 = 21.7 ccL =
PW = 0.51 VGP = 0.0
800/| CAPE = 0 SWEAT= 41
CIN = 0 HWBZ=  0.% / .
900| Tc = 23.2 SHEAR= 40. > X N o _
SREM = 34 LAPSE= 5. 6\)/ . /\/</ \ /\ Y
1000| CELL = 321/30 R ‘L/ L




2013 Horsepool (snow)
Fcst:  88.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1600 UTC Mon 04 Feb 13 (0900 MST Mon 04 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

200

300

400

500

Full barl?:
5ms”

Td

600| LI = LCL
K = -19 LFC
T = 20 EL
700| sy1 = 22.2 ccL
PW = 0.51 VGP =
800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ= 0.
900/ Tc = 23.9 SHEAR= 42.
SREH = 17
1000| CELL = 316/30

74 ¥ A} A ¥
LAPSE= 5.5 \)/X / /‘/ /\
NN \\ \\ \ ‘\~\

e




2013 Horsepool (snow)

Fest:

89.00 h

Init: 0000 UTC Fri O1 Feb 13
Valid: 17700 UTC Mon 04 Feb 13 (1000 MST Mon 04 Feb 13)

Temperature
Dewpoint temperature

x,y=175.85,156.98

X,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

200

300

400

500

600 .6 LCL
K = -18 LFC =
TT = 20 EL =
700| gy1 = 21.8 ccL =
PW = 0.53 VGP =
800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ=
900]| Tc = 23.6 SHEAR=
SREH = 15
1000| CELL =

39.

\\ =
< ) )
LAPSE= 5.4 EX// N /~\//>< '8 \ /x/<\\\ /-
313/30 %




2013 Horsepool (snow)

Fest:

90.00 h

Init: 0000 UTC Fri O1 Feb 13
Valid: 1800 UTC Mon 04 Feb 13 (1100 MST Mon 04 Feb 13)

Temperature
Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

200

300

400

500

Td

600| LI = LCL
K = -17 LFC
T = 21 EL
700| sy1 = 21.5 ccL
PW = 0.56 VGP
800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ= 0 2N
900| Tc = 23.8 SHEAR= 35.
SREH = 24
1000| CELL = 312/30

74 N A} A X
LAPSE= 5.3 \)/5 / /V/ R
AV 4

NS




2013 Horsepool (snow)
Fest:  91.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1900 UTC Mon 04 Feb 13 (1200 MST Mon 04 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

200

300

400

500

2 Td
600] L1 17.9 LCL
K -16 LFC
T = 22 EL
700| sy1 = 20.8 CCL
PW = 0.65 VGP

800/ CAPE = 0 SWEAT= i _ i /

CIN = 0 HWBZ= ) ///\ AV \l/\[lr‘ L oA T
900/ Tc 23.7 SHEAR= 37. ANVZ0 M /7 S SN 7R e
SREH = 29 LAPSE= 5.4 \)/\\\ N /‘\/ X T T
1000] CELL = 370730 N Y7 A N A W 74 N U

Full barl?:
5ms”




2013 Horsepool (snow)
Fest:  92.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 2000 UTC Mon 04 Feb 13 (1300 MST Mon 04 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full bar?:
5ms”

200

300

400

500

600

700

800

900
1000

Parcel Info
T = -6.0Td= -6.9
L1 = 17.6 LCL = 728,
K = 14 LFC = 0.
T = 22 EL = 0.
SWI = 20.4 CCL = 508,
PW = 0.70 VGP = 0.0 i .
CAPE = 0 SWEAT= 42\ W A D A7 N ]
CIN = 0 HWBZ= A / K/\ ///\\\\ Ny \l/\[lr“ LA
Te =  23.4 SHEAR= 35 NS S N VA N e -
SREH = 27 LAPSE= 5. 4\)/\ /\/§/ sy s
CELL = sTi/3 N 4 A N YA W A4 N L A




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest:  93.00 h Valid: 2100 UTC Mon 04 Feb 13 (1400 MST Mon 04 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full barl?:
5ms”

100

200

300

400

500

T = 5.9 Td = -6.8 .
600| LT = 17.0 LCL = 730.
K = -12 LFC = 0.
T = 22 EL = 0.\,
700\ sy1 = 20.5 cCL = 515.
PW = 0.75 VGP = 0.0
800/| CAPE = 0 SWEAT= 38 =
CIN = 0 HWBZ= 0.~
900| Tc = 23.2 SHEAR= 35. S S |
SREH = 37 LAPSE= 5.4 S/ N\ A\ A \ |
1000 CELL = 313/30 N A A N VA W A4 W A VA




2013 Horsepool (snow)
Fcst:  94.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 2200 UTC Mon 04 Feb 13 (1500 MST Mon 04 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

200

300

400

500

Td

600| LI = .9 LCL

K = ~11 LFC .

TT = 22 EL = 0.2\ < W
700| sy1 = 20.5 cCL = 519. R BN

PW = 0.80 VGP = 0.07 N A
800/ CAPE = 0 SWEAT= 36> > /AN , - - =

CIN = 0 HWBZ= 0N AN W ///\ /\ ‘\\ ‘l/‘%'r\ ,'
900| Tc =  23.4 SHEAR= 33. WA PN V4 G S A B e

SREH = 38 LAPSE= 5.2 \)/*\\ /\/V\‘\A N \/x‘ e

_ NS NS S oSy Sso

1000| CELL = 316730 NI YA AN VA W A A VA




2013 Horsepool (snow)
Fest:  95.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 2300 UTC Mon 04 Feb 13 (1600 MST Mon 04 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

200

300

400

500

Full barl?:
5ms”

Parcel

Info

T = 5.5 Td = -6.2 \‘\\ \
600| LI = 16.5 LCL = 738 >~ = P b Ve
K = -8 LFC = Mk \ }/\\ |r S L
1T = 22 EL = 2\ 5 ) 20 0 N W
700| sy1 = 20.4 cCL - 526 S o 3\ \ 'l e ~_
PW = 0.84 VGP = y/ f/ L\ / )/‘/*/\\ S A
800/ CAPE = 0 SWEAT= 36 . y B8 \\ F\ [|/ l“~ -
CIN = 0 HWBZ= _ N / / Y A
900| Tc = 23.1 SHEAR= 31 R N N e ; L ! S A
SREH = 53 LAPSE= 5.0 \)/ \ /\ v / \ )\/ Lo -k
1000 CELL = 320729 N AN AN VA W v N VA




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest:  96.00 h Valid: 0000 UTC Tue 05 Feb 13 (1700 MST Mon 04 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full barb:

5ms

100

200

300

400

o
AN

500

Parcel Info

A
9o

6 Td NS
600| LT =  16.4 LCL = 734 - \\ S />\
K = -8 LFC = /Q/ / < / / L
1T = 20 EL = )20 0 B Q
700| sy1 = 21.7 cCL = 523 ? L1 \ 'l A NS >
PW =  0.85 VGP = ‘\ >/ ////t“ / )/‘/»/\\ | o A e
800/ CAPE = 0 SWEAT= 32 . » B3 Lo A [ S
CIN = 0 HWBZ= N fv’ % \ //\/ \* \l/\xlr\ LA AL
900| Tc = 23.4 SHEAR- 28 o AR B e
SREH = 44 LAPSE= 4.9 \)/ \ /\/(\ “ \ )\/\\ Al iV /:/
1000| CELL = 325/28 N A AN VA W A4 N A A R -




2013 Horsepool (snow)
Fest:  97.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 0100 UTC Tue 05 Feb 13 (1800 MST Mon 04 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full bar?:
5ms”

200

300

400

o

500

Parcel Info

T = -7.5 Td = -7.5 .
600| LI =  16.2 LCL = 734.

K = -8 LFC = 0.

T = 19 EL = 0.3
700\ sy1 = 22.6 CCL = 523.

PW =  0.85 VGP = 0.0 -
800/ cAPE = 0 SWEAT= 37 . - ]

CIN = 0 HIBZ= 0. N A MY = \\ //\/\ \l/\[lr“ oA
900| Tc =  23.4 SHEAR= 25 ™ N LA VRN \
SREH = 33 LAPSE= 4. 9\)/ \ /\/§\/ e \~/ \/*\ e
1000 LELL = 329/28 N 074N A N VA W 74 N AV




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fcst:  98.00 h Valid: 0200 UTC Tue 05 Feb 13 (1900 MST Mon 04 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Fgllmbaslj?:

100

200

300

400

500

T = -7.4 Td = -7.4 .
600| L1 =  16.3 LCL = 740.

K = -8 LFC = 0.

TT = 19 EL = 0.2\
700\ sy1 = 22.3 CCL = 526.

PW = 0.77 VGP = 0.0
800/ CAPE = 0 SWEAT= 34

CIN = 0 HWBZ= 0.~
900| Tc = 23.2 SHEAR= 28.

SREH = 53 LAPSE= 5.0 \)/
1000| CELL = 331/29 C




2013 Horsepool (snow)

Fest:

Temperature

99.00 h

Dewpoint temperature

100

x,y=175.85,156.98
x,y=175.85,156.98
Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 0300 UTC Tue 05 Feb 13 (2000 MST Mon 04 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full bar?:
5ms”

200

300

400

>00 Parcel
T = -8.4
600| LT = 16.9
K = -9
1T = 17
700) sy1 = 23.6
PW = 0.69
800/ CAPE = 0
CIN = 0
900! Tc = 23.4
SREH = 67
1000| CELL = 332/31

Info

Td = -8.4 .

LCL = 746. - - b ’
A / ) / R A A &

oL 0. Sl 2005 P S
ccL 524 3\\ 7 'l S W
VGP = \\\ X))/ h\ L/ S A A R,
SWEAT= 39 b > AN A NN 72 N N

HWBZ= 0. \ / )//\ / S \ VAN VA l' ><
SHEAR= 37. ™ \ \ / \:\ S~ ‘| S S

LAPSE= 5.0 \)/




2013 Horsepool (snow)
100.00 h

Fest:

Temperature

Dewpoint temperature

100

200

300

400

500

600

700

800

900
1000

Init: 0000 UTC Fri O1 Feb 13
Valid: 0400 UTC Tue 05 Feb 13 (2100 MST Mon 04 Feb 13)

x,y=175.85,156.98 lat,lon= 40.14,-109.47
x,y=175.85,156.98 lat,lon= 40.14,-109.47
Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full bar?:
5ms”

Parcel

23.5
0.65
0

0
23.5
36

334/32

Info

Td = -8.4 \.
LCL = 742.

LFC = 0.

EL = 0.

CCL = 521.

VGP = 0.0
SWEAT= 37
HWBZ= o.~\ R
SHEAR= 37.

|
LAPSE= 5.2 \)/ / /V “ \\ PRYSRE S A
\ \ \ \ \ \\ N L | s .




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest: 101.00 h Valid: 0500 UTC Tue 05 Feb 13 (2200 MST Mon 04 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full barl?:
5ms”

100

200

300

400

500

-8.1 Td = -8.1
600| LI = 17.1 LCL = 744.

K = -8 LFC = 0.

1T = 18 EL = 0.
700| sy1 = 23.0 cCL = 520. )X 2 ;

. SN 0\ N

PW = 0.64 VGP = 0.0 \ /5//\ LEL EN (7 ~ > Ve

800/ CAPE = 0 SWEAT= 35 b A A N 7 T~

- - \ < P | A | X >
CIN 0 HWBZ NV S />// S A / x'r\ l
900| Te =  23.5 SHEAR= 35. ) VAR g S S

|
< 7 4 \ Y < 4 A} ~ / T T ~J % S
%6 LAPSE= 5.6 \)/\ AN /V\/ \ RS
331/32 N AR \ A | [ BN N
NN N VT v 3

w
O
m
T
1l

1000]| CELL




2013 Horsepool (snow)
102.00 h

Fest:

Temperature

Dewpoint temperature

100

200

300

400

500

600

700

800

900
1000

Init: 0000 UTC Fri O1 Feb 13
Valid: 0600 UTC Tue 05 Feb 13 (2300 MST Mon 04 Feb 13)

x,y=175.85,156.98 lat,lon= 40.14,-109.47
x,y=175.85,156.98 lat,lon= 40.14,-109.47
Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full bar?:
5ms”

o

A S

Parcel

-8.2
17 .1
-9
18
23.2
0.64
0
0
23.6
31
330/32

Info

Td = -8.2

LCL = 744, ‘

LFC = o. 2N

EL = o. o
CCL = 520. "
VGP = 0.07 N .
SWEAT= 38> SN ]

HWBZ= 0.5 N\ 8 7 \ //\/ / \
SHEAR= 37. _w NSNERN A VO

|
\ T
LAPSE= 5.7 \)/ p / " RN SR S
SONNAN A ‘\~\ S
N

AN

ﬁ\ \




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest: 103.00 h Valid: 0700 UTC Tue 05 Feb 13 (0000 MST Tue 05 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full barb:
5ms
100

200

300

400

500

Parcel Info

T = -8.2 Td = -8.2 '\
600| LI = 17.1 LCL = 746.
K = -10 LFC = 0.
T = 18 EL = 0.\
700| sy1 = 23.1 CCL = 522,
PW = 0.68 VGP = 0.0
800/ CAPE = 0 SWEAT= 31 N
CIN = 0 HWBZ=
900| Tc = 23.3 SHEAR= 32 ™
SREH = 28 LAPSE= 6.2 \
1000| CELL = 327/32




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fcst: 104.00 h Valid: 0800 UTC Tue 05 Feb 13 (0100 MST Tue 05 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Fgllmbaslj?:

100

200

300

400

500

T = -8.4 Td = -8.4 \.
600| LI =  16.9 LCL = 741.
K = -11 LFC = 0.
TT = 18 EL = 0.2\
700| sy1 = 23.2 coL = 522.
PW = 0.70 VGP = 0.0
800| CAPE = 0 SWEAT= 34
CIN = 0 HWBZ= 0. |
900]| Tc = 23.1 SHEAR= 36. S SR N7 AR o _
SREH = 6 LAPSE= 6.3 \)/*\\ AN /y\/ N SR i i
1000] CELL = 323/31 N 4 A N VA W AV N L VA




2013 Horsepool (snow)
Fcst: 105.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 0900 UTC Tue 05 Feb 13 (0200 MST Tue 05 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

200

300

400

500

Td

600| LI = LCL
K = -13 LFC =
TT = 18 EL =
700| sy1 = 23.3 cCL =
PW = 0.73 VGP =
800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ=
900]| Tc = 22.6 SHEAR=
SREH = 0 LAPSE=
1000| CELL = 319/29

742

0.
0.2
525. X 7 \ 7
0.0/ N /2\/ 7\ e S B ¢
34 N < N \ \ T _ \ T _ fi S - ~\<
RN ), SN ///\ JAWAN \‘//\/' oA <
37. VRSN N A A ] e
6.5 \)/ / / N R /& b A
SNONNA N AT L] [
NERESYANANER \ VAN [ A




2013 Horsepool (snow)
Fcst: 106.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1000 UTC Tue 05 Feb 13 (0300 MST Tue 05 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

Full bar?:
5ms”

200

300

400

500

Parcel Info

T = -8.8 Td = -8.8 '\
00| L1 =  17.2 LCL = 740.
K = -13 LFC = 0.
T = 17 EL = 0.3
700| sw1 = 23.7 cCL = 521.
PW =  0.77 VGP = 0.0
800/ CAPE = 0 SWEAT= 36 X . - -
CIN = 0 HWBZ= S W /// \\ AVEN! ‘l/‘%'r\ - e
900| Te = 22.9 SHEAR= 2 RV N WA SN A RS S
SREH = 2 LAPSE= 6. 5\)/ o /\/z\‘\/\ \ \\qr / \/*‘ i
1000 CELL = 374/28 N 74 N A N VA W A4 W A V|




2013 Horsepool (snow)
Fest: 107.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1100 UTC Tue 05 Feb 13 (0400 MST Tue 05 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

Full bar?:
5ms”

200

300

400

500

T =  -9.2 Td = -9.1
600| LI =  17.9 LCL = 740.
K = -13 LFC = 0.
TT = 16 EL = 0.
700|swt = 24.6 CCL = 510. "X~ X \
PW = 0.77 VGP = 0.0 % é/ S P A P
N } -
800/ CAPE = 0 SWEAT= 39 _A Do A7 [ ‘\7,\
CIN = 0 HWBZ= 0. \\ //f"f /// \ VAN E/\Ar LA é
900| Tc = 24.1 SHEAR= 38. _ ™ . N S SN VA e
SREH = 12 LAPSE= 6. 3\)/ \ /\/z\*\/\ Y \/&‘ B
1000| CELL = 309728 N 74 N A N VA W A4 W A V|

Parcel

Info




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fcst: 108.00 h Valid: 1200 UTC Tue 05 Feb 13 (0500 MST Tue 05 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full barl?:
5ms”

100

200

300

400

500

-9.0
600| LI = 18.2
K = -13
T = 15
700| sy1 =  24.8
PW =  0.78
800/ CAPE = 0

CIN = 0

= ‘\\ \‘/\/‘\ |
- : AN - -
900| Te = 25.0 SHEAR= 36. S /< LN S N A e =
29 LAPSE= 6.1 \)/\ N\ /V\/ \ Sy /* R e
305/28 X AT bl
\

w
O
m
T
1l

1000]| CELL




2013 Horsepool (snow)
Fest: 109.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1300 UTC Tue 05 Feb 13 (0600 MST Tue 05 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”
100 \L\L\
200
300
400 LU\\
500—— . < LN - \QLK
Parcel Info
T = -89Td= -88 X “ \ ]
600| LI = 18.7 LCL = 739 \ e .
K = -13 LFC = / /8/( \ |
TT = 15 EL = N W Q
700| sy1 = 25.0 cCL = 498 N = " 'l x >
PW =  0.81 VGP = % = LC)L Ay s /
800/ CAPE = 0 SWEAT= 39 . » \ F\\ o \/
CIN = 0 HUBZ= 0. ﬁ / : / \/ E/\Arx ll /
900| Tc = 25.7 SHEAR= 35 \ N\ AR SA A T
SREH = 36 LAPSE= 6.0 \)/ '\ /\ T \ /\\ ; \/*\ | /:/
1000| CELL = 301/28 = AN A R e




2013 Horsepool (snow)
Fest: 110.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 1400 UTC Tue 05 Feb 13 (0700 MST Tue 05 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

200

300

400

500

-8.9

600| LI =  18.8

K = 11
200 TT = 14

SWI = 25.2 p 7

. . ) \

PW = 0.87 VGP = 0.0 X /%/\\ ‘\QLOL Ay A e
800| CAPE = 0 SWEAT= 39 X SED7AN A Lo AV T

CIN = 0 HWBZ= 0.5 pX ///\\\ AVEN! \l/\[lr“ LA
900| Te = 26.0 SHEAR= 33. sy NN /N A g p g e

SREH = 57 LAPSE= 6.0 \)/‘\ /\/ﬁ/\ \ N /x‘ A

_ N NS

1000| CELL = 297727 N YA AN VAR N A W A VA




2013 Horsepool (snow)
Fest: 111.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1500 UTC Tue 05 Feb 13 (0800 MST Tue 05 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

Full barl?:
5ms”

200

300

400

500

8.9 Td = -8.9
600| LT =  18.8 LCL = 743.
K = -10 LFC = 0.
TT = 15 EL = 0.2\
700\ sy1 = 25.1 cCL = 501.
PW = 0.90 VGP = 0.0
800| CAPE - 0 SWEAT= 41> S
CIN = 0 HWBZ= 0.~ 1
900| Tc = 25.6 SHEAR= 33. ‘\\ S . ' ‘ , RN A
SREH = 70 LAPSE= 5.9 \)/\ AN /‘\:\/\ VN
1000 LELL = 294/28 N 074 N AN VA N 74 W A




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest: 112.00 h Valid: 1600 UTC Tue 05 Feb 13 (0900 MST Tue 05 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full bGI:l?:
5ms
100
A
A |
A\
200
300 g
. Q U\L\
400 \QUJ\
500 \&K
T = -85
600| LI = 18.7
K = -10
T = 15
700| sy1 = 247
PW =  0.89
800/ CAPE = 0
CIN = 0 _ \ \
900| Tc = 25.9 SHEAR= 29. N
SREH = 83 LAPSE= 5.8
1000 CELL = 288/27




2013 Horsepool (snow)
Fest: 113.00 h

Init: 0000 UTC Fri O1 Feb 13
Valid: 17700 UTC Tue 05 Feb 13 (1000 MST Tue 05 Feb 13)

Temperature
Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

100

lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

200

300

400

500

T = 8.3 Td =
600 LI = 18.4 LCL =

K = -9 LFC =

TT = 15 EL =
700| sy1 = 247 cclL =

PW = 0.90 VGP =
800/ CAPE = 0 SWEAT=

CIN = 0 HWBZ=
900]| Tc = 25.9 SHEAR=

SREH = 86 LAPSE=
1000| CELL = 283/27

-8.7 N\

734.
0.
0.

498.
0.0
37 :

0.
33. =

5.6




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest: 114.00 h Valid: 1800 UTC Tue 05 Feb 13 (1100 MST Tue 05 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full barl?:
5ms™
100
200
300
400
500
T = -82Td= -8.7 N\
600| LI = 18.0 LCL = 731.
K = -9 LFC = 0.
T = 15 EL = 0.2\
700| sy1 = 24.4 cCL = 500.
PW = 0.91 VGP = 0.0
800/ CAPE = 0 SWEAT= 35
CIN = 0 HWBZ= 0. \\
900| Tc =  25.7 SHEAR= 33.
SREH = 84 LAPSE= 5.7 \)/
1000!| CELL = 277/27 -




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest: 115.00 h Valid: 1900 UTC Tue 05 Feb 13 (1200 MST Tue 05 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

?W#g@:

100
200
300
400
500 > >
Parcel Info

T = =69 Td= -7.7 N
600| LI =  17.2 LCL = 732.

K = -6 LFC = 0.

TT = 18 EL = 0.2\
700| sy1 = 22.9 ccL = 509.

PW =  0.95 VGP 0.0
800/ CAPE = 0 SWEAT= 32

CIN = 0 HWBZ= 0.~
900| Tc = 25.1 SHEAR= 32.

SREH = 84 LAPSE= 5.7 \)/
1000| CELL = 270/27 -




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest: 116.00 h Valid: 2000 UTC Tue 05 Feb 13 (1300 MST Tue 05 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47
Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47
Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47
N Full barb:

5ms

100
N
Ny |
N
200
A\
AWy
300 W
. Q
ANV
400 O]
: N\
\&L——
500 : S N
Parcel Info .
T = -6 Td= -6.8 N\ :
600| LI = 16.5 LCL = 730.
K = -5 LFC = 0.
T = 20 EL = 0.3
700| sy1 = 21.8 cCcL = 515.
PW = 0.97 VGP = 0.0
800/ CAPE = 0 SWEAT= 34>
CIN = 0 HWBZ= 0.
900| Tc =  24.7 SHEAR= 29.
SREH = 45 LAPSE= 5.7 \)/
1000]| CELL = 266/29 -




2013 Horsepool (snow)
Fest: 117.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98
Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 2100 UTC Tue 05 Feb 13 (1400 MST Tue 05 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full bar?:
5ms”

100

200

300

400

500

Parcel Info

-5.6 Td =
15.7 LCL =
K = -4 LFC =
T = 21 EL =
SWI = 21.0 CCL =
0.96 VGP =
0 SWEAT=
CIN = 0 HWBZ=
24 .4 SHEAR=

600

700

o
=
e
m o
1l

800

900
1000

O w
m O
— rm
—
I

-6.3
723.
0.

0.

517.

0.0
36 >
0.

30.

\ \ I \
S \ ~ \
pZ4 4 \ \x\ B% T Y%
20 LAPSE= 5.7 \)/‘\\ IS /V\/ \ RIS S
261/29 > VAR T ¥

AN

AN \




2013 Horsepool (snow)
Fest: 118.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 2200 UTC Tue 05 Feb 13 (1500 MST Tue 05 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

Full bar?:
5ms”

200

.

300

400

500

Parcel Info

T = =56 Td= -6.3 \u
600| L1 =  15.4 LCL = 722,

K = -5 LFC = 0.

TT = 21 EL = 0.
700| sy1 = 20.8 cCL = 521.

PW =  0.97 VGP = 0.0 N
800/ CAPE = 0 SWEAT= 38: a7AN . - - s/

CIN = 0 HWBZ= 0.~ X /// \\ AVAN! \l/\[lr“ LA T
900| Tc =  24.0 SHEAR= 33. > KX =\ A N A B e 4

SREH = 34 LAPSE= 5. 9\)/ \ /\/§\/ Y \/&‘ e
1000 CELL = 259/30 N V74 AN VA N A4 S L W




2013 Horsepool (snow)
Fest: 119.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 2300 UTC Tue 05 Feb 13 (1600 MST Tue 05 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

200

300

400

500

Full bar?:
5ms”

Parcel Info

Td =

LCL =
LFC =
EL =
CCL =
VGP =
SWEAT=
HWBZ=
SHEAR=

600

700

o
=
e
m o
1l
(@]

800

23.6
37
256/32

900
1000

O w
m O
— rm
—
I

-6.1

719.
0.
0.\

523.
0.0
40 >

0. M AVAN
35 O N\ b \ \ /*\\\*

> \ DS
LAPSE= 5.9 \)/‘\ N /‘\:\/\ v

NS




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest: 120.00 h Valid: 0000 UTC Wed 06 Feb 13 (1700 MST Tue 05 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full barl?:
5m s
100
N |
"DQ
(N
N
200
N
N\
300
. Ny
NSy
400 N
N\ W
500l : N
Parcel Info . A)Q
T = 6.0Td= 6.5 X. \\;/\>\
600| LI =  14.7 LCL = 715, - v
K = -6 LFC = 0.
T = 20 EL = 0. fj% Q
700| sw1 = 21.1 CcCL = 524. S
PW = 0.91 VGP = 0.0 X S 3\ S ] /
800| CAPE = 0 SWEAT= 36 y - A SN =
CIN = 0 HWBZ= 0.8 %Q)//// VAN ‘l/‘%'r\ | / -
900| Tc =  23.4 SHEAR= 38 N7 ) SN 2R e =
SREH = 35 LAPSE= 5. 9\)/ N /V\/ \ )\/\ 1
1000| CELL = 253/33 R AV S L v —




2013 Horsepool (snow)
Fest: 121.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98
Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 0100 UTC Wed 06 Feb 13 (1800 MST Tue 05 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full bar?:
5ms”

100
200
300
400
500 > >
Parcel Info
T = -65Td= -6.8 N\
600| L1 = 14.4 LCL = 713.
K = -8 LFC = 0.
TT = 21 EL = 0.3 : i
700| sy1 = 21.5 ccL = 527. 2
PW =  0.85 VGP = 0.07 N N SN ~
800/| CAPE = 0 SWEAT= 43 y =7\ AN =34
CIN = 0 HWBZ= 0.~ /(CQ//// R AVAN! \l/\[lr“ l' /
900| Tc =  23.0 SHEAR= 41. PN 27 W) N A28 B e
SREH = 33 LAPSE= 5. 9\)/\ /\/i/ \ s
; \ \
1000] CELL = 251/33 < N N A N U VA




2013 Horsepool (snow)

Fest:

Temperature

122.00 h

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98
Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 0200 UTC Wed 06 Feb 13 (1900 MST Tue 05 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”

100 \
\\\ \\\ b / M/
200 - A
300 %
\\\ N W
400 RN A S\
\\\\ \\ w
500 N S A - \ &/
Parcel Info A)Q
T = -6.2Td= -8.0 N\ ] N
600| LT =  13.9 LCL = 715. S S
K = -10 LFC = 0.
T = 20 EL = 0.\ 9. »\S;/ NS
700| swr = 21.4 CCL = 534, AT AN 7 LCL\ 77 T
PW = 0.81 VGP = 0.0 N7 AN \ \\ / */\\ A oo /
800/ CAPE = 0 SWEAT= 43> > AR AN VA IS, 72 - ~ /
CIN = 0 HWBZ= 0.~ /(K /// /\ / A / 74
900| Tc =  22.3 SHEAR= 43. ) I e -
N \ N N \I l\ N
SREH = 34 LAPSE= 6.0 )/ . /\/(\/ \ \*r/ \/x‘ A
= \ \ S -~ s
1000 CELL = 249/35 < AN VA S A4 N U VA =




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest: 123.00 h Valid: 0300 UTC Wed 06 Feb 13 (2000 MST Tue 05 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47
Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47
Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47
N Full barb:

5ms

100 S

[N
AR
NS,

200
A\
N

300
. Q >
A\
N

400

500

Parcel Info

.
/
/
/
/
/
/
/
, %

T = -6.2 Td = -8.0
600| LI =  13.6 LCL = 715.
K = -11 LFC = 0.
TT = 21 EL = 0.3
700| sy1 = 21.0 CCL = 541
PW = 0.78 VGP = 0.
800/ CAPE = 0 SWEAT= 3 - SEpA!
CIN = 0 HWBZ= 0. \/~
900]| Tc = 21.4 SHEAR= 42. > ™\ g ~
SREH = 42 LAPSE= 6. 2\)/\ /\/(\/ \ \\*r /o
1000]| CELL = 248/36 - L —




2013 Horsepool (snow)
Fcst: 124.00 h
Temperature

Dewpoint temperature

Init: 0000 UTC Fri O1 Feb 13

Valid: 0400 UTC Wed 06 Feb 13 (2100 MST Tue 05 Feb 13)

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Q Full barb:
™ gl park
100
W
W
NS
200
N\
w
300
N Q >
(e
400 N
. w
sool § o
Parcel Info
T = 9.2 Td= -9.2 N\
600| LI = 13.7 LCL = 714.
K = -17 LFC = 0.
TT = 17 EL = 0.
700| sy1 = 23.9 CCL = 540,
PW = 0.73 VGP = 0.0
800/ CAPE = 0 SWEAT= 38 =
CIN = 0 HWBZ=  0.° / :
900| Tc = 21.3 SHEAR= 41. > .
SREH = 33 LAPSE= 62\)/\ /\/</ \
1000| CELL = 246/37




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest: 125.00 h Valid: 0500 UTC Wed 06 Feb 13 (2200 MST Tue 05 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47
Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47
Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47
N Full barb:

5ms

100
W~
W]
N\ "
200
N
"
300
. IS S
N>
400 N
500—— 8 ‘ W1
Parcel Info S
T = 9.7 Td= -9.7 N
600| L1 =  13.7 LCL = 718. —¢
K = -16 LFC = 0.
TT = 16 EL = 0.3
700 sy1 = 24.3 coL = 541, X
PW = 0.73 VGP = 0.07 %
800/ CAPE = 0 SWEAT= 42
CIN = 0 HWBZ= 0.
900| Tc = 21.1 SHEAR= 42,
SREH = 27 LAPSE= 6.0 \)/\
1000| CELL = 245/37 -




2013 Horsepool (snow)
126.00 h

Fest:

Temperature

Dewpoint temperature
Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Init: 0000 UTC Fri O1 Feb 13
Valid: 0600 UTC Wed 06 Feb 13 (2300 MST Tue 05 Feb 13)

x,y=175.85,156.98 lat,lon= 40.14,-109.47

X,y=

175.85,156.98  lat,lon= 40.14,-109.47

N Full bark:

100
W
W]
>
200
>
>
300
. S O
>
400 N
, o
500 —— > ] N
Parcel Info
T = 9.6 Td= -9.6 N\ i
600| LI = 13.6 LCL = 720. N > \} -
K = -14 LFC = 0. o\ <
TT = AN QU R YZ RN S
700| sy1 23.8 CCL = 547. X AVAREAMY v
PW = 0.72 VGP = 0.0 \\){/\\/) —
800| CAPE = 0 SWEAT= 43 ", AT
CIN 0 HWBZ= 0. //iéé/\////
900| Tc =  20.4 SHEAR= 44. VAR A%
SREH = 24 LAPSE= 6.0 \)/\\\ /\/‘\:\/\ }
1000| CELL = 243/38 R




2013 Horsepool (snow)
Fest: 127.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
X,y=
Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 0700 UTC Wed 06 Feb 13 (0000 MST Wed 06 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

175.85,156.98

Full barl?:
5m s
100
W
NSy
200 >
>
>
300
\ w
N
400 N
, o
500> : § N
Parcel Info
T = 9.6 Td= -9.6
600| LI =  13.4 LCL = 724,
K = -14 LFC = 0.
TT = 18 EL = 0.3
700| sy = 23.5 cCL = 553, X
PW = 0.68 VGP = 0.0 X I\ ™~
800| CAPE = 0 SWEAT= 44> ol S
CIN = 0 HWBZ= o_x\\\//é%é/\\////\\\\
900| Tc = 19.7 SHEAR= 46. oyl o N_ ) N
SREH = 41 LAPSE= 6.0 \)/\ /\/(\:\/\
1000| CELL = 242/40 R




2013 Horsepool (snow)
Fcst: 128.00 h
Temperature

Dewpoint temperature

Valid: 0800 UTC Wed 06 Feb 13 (0100 MST Wed 06 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

lat,lon= 40.14,-109.47

Ini

t: 0000 UTC Fri 01 Feb 13

Full barl?:
5m s
100
W]
NS
200 >
>
>
300
. N
>
400 N
3 o
500 \ S - &/
Parcel Info
T = =95 Td= -9.5 N\
600| LI =  13.0 LCL = 723.
K = ~13 LFC = 0.
TT = 19 EL = 0.2
700| sw1 = 23.2 CCL = 557. \
PW = 0.65 VGP = 0.0 % N\ o
800| CAPE = 0 SWEAT= 43> . S
CIN = 0 HWBZ= o\\f\&é/\//// —
900| Tc = 19.3 SHEAR= db6. syl Ny NN Ry A s s e R
SREH = 16 LAPSE= 6.0 \)/\ N /(\/ \ A /:/
- N NN -
1000 CELL = 241/41 NN Y A - =




2013 Horsepool (snow)
Fest: 129.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 0900 UTC Wed 06 Feb 13 (0200 MST Wed 06 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barb:

5ms™
100
W
N
>
200
300
\ SEEE
>
400 N
\ -
500 \ N /\
Parcel Info y// A
T = =91 Td= -9.1 X “
600| L1 =  12.9 LCL = 722. X%
K = -11 LFC = 0.
TT = 20 EL = 0.\ e N
700| sw1 = 22,4 ccL = 559, X 4 ;
PW = 0.65 VGP = 0.0 \\y AN 2 .
800/ CAPE = 0 SWEAT= 42 Pl =\
CIN = 0 HWBZ= 0.~ W\ //\/ Y
900| Tc =  18.8 SHEAR= 46. WAL 25 N N4 SR e
SREH = 1 LAPSE= 5.9 \)/‘\ /\/V\‘;/\ ey
1000| CELL = 241/43 RN A A




2013 Horsepool (snow)

Fest:

130.00 h

Temperature
Dewpoint temperature

100
N\
N\
200 bl
300
\ Q w
>
400 N
\ o
500 * s \%/
Parcel Info
T = -89 Td= -8.8 N\
600| L1 =  12.8 LCL = 722.
K = -10 LFC = 0.
TT = 21 EL = 0.\ : k
700f sy = 21.9 cCcL = 567. 7z ;
PW = 0.71 VGP = 0.07 N N 8 N
800| CAPE = 0 SWEAT= 46> ", =AM v %
CIN = 0 HWBZ= 0. \\/\4‘?////‘ /\ Ly E/\Arx lI/ Z‘
900| Tc = 17.6 SHEAR= 44, N % ] e
SREH = 1 LAPSE= 5. 9\)/\ /\/(\/ \ )\/ \*r/ /%/ } |
1000] CELL = 242742 N Y74 AN VA W A4 N U ¥

Init: 0000 UTC Fri O1 Feb 13
Valid: 1000 UTC Wed 06 Feb 13 (0300 MST Wed 06 Feb 13)

x,y=175.85,156.98 lat,lon= 40.14,-109.47
x,y=175.85,156.98 lat,lon= 40.14,-109.47
Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

N Full bark:




2013 Horsepool (snow)
Fest: 131.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1100 UTC Wed 06 Feb 13 (0400 MST Wed 06 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barb:
, Sms

100

{

AN

200

300

o

400

500

Td =
LCL =
LFC
EL
21.2 CCL
0.72 VGP =
0 SWEAT=
CIN = 0 HWBZ=
17.2 SHEAR=
0 LAPSE=
242/42

600

700

o
=
e
m o
1l

800

900
1000

O w
m O
— rm
—
I

41.

5.9




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest: 132.00 h Valid: 1200 UTC Wed 06 Feb 13 (0500 MST Wed 06 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47
Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47
Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47
N Full barb:

5ms

100
W
NSy
200 ]
300
N Q §>//
o
400 Qv
: o
500 * E -
Parcel Info
T = -8.6Td= -85
600| LI =  12.2 LCL = 726.
K = -7 LFC = 0.
TT = 23 EL = 0.3 \ \
700| sw1 = 20.9 ccL = 577. 7z ;
PW = 0.67 VGP = 0.0 QS N\ S g
800| CAPE = 0 SWEAT= 45> ", /AN v s
o 0N SEERTIN AP A
900| Tc = 16.6 SHEAR= 42. N % ] e
SREH = 0 LAPSE= 6. o\)/ \ /\/(\/ \ )\/ \*r/ /‘\/ s
1000] CELL = 242/41 N Y74 AN VA W A4 N U ¥




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest: 133.00 h Valid: 1300 UTC Wed 06 Feb 13 (0600 MST Wed 06 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full barb:
m s
100
W
W
200 >
300
\ SR
400 N
3 -
500 —— S A\
Parcel Info ,\)Q
T = -85Td=- -8.4 \\>>/\>\
600| L1 =  11.9 LCL = 726. S Ve
K = -6 LFC = 0.
TT = 24 EL = 0. S
700\ sy1 = 20.4 ccL = 582
PW =  0.64 VGP = /\/ //
800/ CAPE = 0 SWEAT= 4 >
CIN = 0 HWBZ= / A
900| Tc = 16.0 SHEAR= 40 ] - o
SREH = 0 LAPSE= 5.9 \)/ \ /\/(\ v \ / . / \
1000| CELL = 242/41 \ *r\ . S




Init: 0000 UTC Fri O1 Feb 13
Valid: 1400 UTC Wed 06 Feb 13 (0700 MST Wed 06 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47
Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47
Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

2013 Horsepool (snow)
Fcst: 134.00 h

Full bGI:l?:
m s
100
W
NSy

200 >
300

. Q Q/
400 Q
500 >

Parcel Info .

T = -88Td= -8.8 X
600 LT =  11.5 LCL = 726, .

K = -4 LFC = 0. 4
200l 1T 2 24 EL = 0.\

SWI 20.3 CCL = 589. X AR LN T

PW = 0.63 VGP = 0.0 /3(/\ /\fﬁk / B//\ P AL
800/ CAPE = 0 SWEAT= 40> 3 A SV S /2N SN N

CIN 0 HNBZ= 0.5 M AVENY \l/\[lr‘ LA
900| Tc = 15.1 SHEAR= 42. _ . A \ A ZAVE RN S

SREH = 0 LAPSE= 5. 8\)/ VAR )\/\ R
1000] CELL = 243/41 N 74 A N VA W A7 N A W




2013 Horsepool (snow)
Fest: 135.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1500 UTC Wed 06 Feb 13 (0800 MST Wed 06 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

100

200

300

400

500

600

700

800

900
1000

Full barb:
m §R

[

f

o

LR

X

0

Parcel Info

-8.1 Td =
11.2 LCL =

-2 LFC =

27 EL =
SWI = 18.8 CCL =
PW = 0.62 VGP =
CAPE = 0
CIN = 0
Tc = 14.0
SREH = 0
CELL = 243/40

T =
LT =
K =
1T =

HWBZ=

SWEAT=

SHEAR=

LAPSE= 6.2 \)/‘\

-8.1
730 .
0.
0.\
597.
0.0
44

0.~ /é‘—/‘ /// AV
40 . R S A b A\ \ /*\\\*

NS AR \




2013 Horsepool (snow)
Fest: 136.00 h
Temperature

Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 UTC Fri O1 Feb 13
Valid: 1600 UTC Wed 06 Feb 13 (0900 MST Wed 06 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full bGI:l?:
m s
100
[N
W
NS
200
300
. Q @/
400 Q
, o
500 \ N A — D - 2 L S _ &/
Parcel Info W A)Q
T = 7.8 Td = -7.9 "\ N W \>\
600| LT =  10.7 LCL = 735. —X Reer IVASE /
K = -1 LFC = o }&\ )< \\ \ . 2/
TT = 28 EL = N2\ Q
700| sy1 = 17.9 ccL = 607 3\ \ T ~ >
PW =  0.60 VGP = % Q /7{ QL\\ 4 RN L/ A /
800/| CAPE = 0 SWEAT= 48 . \ Lo A [ S
CIN = 0 HWBZ=  O.° / =\ / N //\/ ! \l/\[lr“ lI / A
900| Tc =  13.1 SHEAR= 38. R e A
SREH = 0 LAPSE= 6.5 \)/ \ /\/‘\ ‘v \ /\ RN
1000 CELL = 243/40 S Y Z S ‘L/ N .




2013 Horsepool (snow)
Fest: 137.00 h
Temperature

Dewpoint temperature

Valid: 1700 UTC Wed 06 Feb 13 (1000 MST Wed 06 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

Init: 0000 U

lat,lon= 40.14,-109.47

100

200

300

o

A

400

500

TC Fri O1 Feb 13

Full barb:
msR

i

f

X

0

Info

Td =
LCL =
LFC =
EL =
17.6 CCL =
0.55 VGP =
0 SWEAT=
CIN = 0 HWBZ=
13.3 SHEAR=
0 LAPSE=
244/40

Parcel

-7.8
10.7
-2
29

600

700

o
=
e
m o
1l

800

900
1000

O w
m O
— rm
—
I
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0.\
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0.0
42 >

/
S /
/ , ,
) /
/ J /
. /
/
7 7 7
/ /
/ /
) / /
; /

O N
42

A
66)/\/\




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest: 138.00 h Valid: 1800 UTC Wed 06 Feb 13 (1100 MST Wed 06 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full barb:
5ms”

100

f

f

200

300

KK € %

(X

400

0

£

500
Td \ A
\ i |
600| L1 = LCL N VA 1 v
K = -2 LFC = 0. AN N S NV N BN
TT - 30 EL o= 0 XX 2 B\ 5y e ] 2005 NS
7001 sur = 6.6 CCL = 610, XA LN TSl T AN
PW =  0.50 VGP = 0.07 N7/ /‘\)( D i AR A S R P/ SN e
= 0 SWEAT= 39 PIPAN ) 7AN r A [N /

800/ CAPE \ \
- - N N A VAL T K \
CIN 0 HWBZ= 0.~ % T G N G / . | -

900| Tc =  12.8 SHEAR= 40.

|
AL 4 \ VT ST T 17 -
0 LAPSE= 6.6 \)/\\ b /z\/ \ /) /¥ ,
246/40 X AT bl

w
O
m
T
1l

1000]| CELL




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fest: 139.00 h Valid: 1900 UTC Wed 06 Feb 13 (1200 MST Wed 06 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full bGI:l?:
5ms
100
W
NS
AN\ gy
200
A\
>
300
. o
>
400 © v
\ .
500 \%/
600| LI = 9.8 LCL = 730. A\
K = -2 LFC = 0. -
T = 33 EL = _
700| sy1 = 15.3 CCL = 617,
PW = 0.48 VGP = 0.0 \
800/ CAPE = 0 SWEAT= 33
CIN = 0 HWBZ= 0.
900| Tc = 11.9 SHEAR= 38.
SREH = 0 LAPSE= 6.8 /
1000 CELL = 248/38




2013 Horsepool (snow)
Fcst: 140.00 h
Temperature

Dewpoint temperature

Init: 0000 UTC Fri O1 Feb 13

Valid: 2000 UTC Wed 06 Feb 13 (1300 MST Wed 06 Feb 13)

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Q Full barb:
Ae e
100
W —
W —
\\S
200
N
7
300
. O
]
400 N
N W
N\
500 - - -
Parcel Info AU '\)Q
T =  -4.9 Td = -5. \>\
600| L1 = 8.8 LCL = 730. - S
K = 0 LFC = 0.
TT = 37 EL = 0.\ W P ©
700| sy1 = 13.0 cCL = 621. X
PW = 0.48 VGP = 0.07 X %j? /
800/ CAPE = 0 SWEAT= 27 % e\
CIN = 0 HUBZ= 0. X pANC / .
900]| Tc = 11.7 SHEAR= 30. ] - o
SREH = 0 LAPSE= 7.1 \)/ .
1000/ CELL = 253/35 -




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fcst: 141.00 h Valid: 2100 UTC Wed 06 Feb 13 (1400 MST Wed 06 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full barb:
S5ms
100
[N
W —
W
200
N
A\
300
Q >
N\
400 O

500

-4.1 Td .
600| LI = 8.0 LCL = 735.
K = 3 LFC = 0.
TT = 39 EL = 0.\
700| sy1 = 11.4 CCL = 633. N Y
P =050 VGP = 007 N 7y N Y Bl “»’\\r | o J ut o~
800/ CAPE = 0 SWEAT= 27 Pt 72N A S AT N -

CIN = 0 HWBZ= 0.5 X N ///\\\ //\/\\/ VA
900| Tc =  10.9 SHEAR= 25. = AR\ (25 NS NIVASEE] SN A S e =
SREH = 0 LAPSE= 7.1 N2 A AN\ e L S b
1000 CELL = 2568/30 N YA A N VA W A N A VA




2013 Horsepool (snow)
Fcst: 142.00 h

Init: 0000 UTC Fri O1 Feb 13
Valid: 2200 UTC Wed 06 Feb 13 (1500 MST Wed 06 Feb 13)

Temperature
Dewpoint temperature

x,y=175.85,156.98
x,y=175.85,156.98

Horizontal wind vectors x,y=175.85,156.98

lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full barl?:
5ms”
100
[N
W
W\
200
W]
AN
300 o
NN
W
400 Q
\\Xx
500 )
\\\L ,bg
-4.3 Td e \>\
600| L1 = 7.5 LCL A
K = 6 LFC
TT = 39 EL : S
700] sy1 = 11.5 ccL _ e X7
PW = 0.50 VGP = 0.0 ‘2;/ \\E /\% AW A
800/ CAPE = 0 SWEAT= 28: 0. PCEV7AN W A i / T
CIN = 0 HWBZ= 0. /( W\\ VAN E/\Arx LA
900| Tc =  10.3 SHEAR= 23. ) PN 24 S e 2R . /A
SREH = 0 LAPSE= 6.8 \)/‘\ /\/z\\/\ VN
= N NN PN > s
1000| CELL = 266727 N AN AN VA W A N A VA




2013 Horsepool (snow)
143.00 h

Fest:

Temperature

Dewpoint temperature

100

200

300

400

500

600

700

800

900
1000

x,y=175.85,156.98
x,y=175.85,156.98
Horizontal wind vectors x,y=175.85,156.98

o

FEEE ¢ ¢ ¢

Init: 0000 UTC Fri O1 Feb 13
Valid: 2300 UTC Wed 06 Feb 13 (1600 MST Wed 06 Feb 13)
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47
lat,lon= 40.14,-109.47

Full bar?:
5ms”

[

f

9.2

271724

SHEAR=

LAPSE= 6.5 \)/‘\

23.

AN




2013 Horsepool (snow) Init: 0000 UTC Fri O1 Feb 13
Fcst: 144.00 h Valid: 0000 UTC Thu 07 Feb 13 (1700 MST Wed 06 Feb 13)
Temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Dewpoint temperature x,y=175.85,156.98 lat,lon= 40.14,-109.47

Horizontal wind vectors x,y=175.85,156.98 lat,lon= 40.14,-109.47

Full ba(?:
5ms
100
N
W\
W
200
-
AW
300 W
. Q
W |
400 ,\QLLK
500
Parcel
T = -5.6
600 LI = 6.6
K = 11
TT = 37
700\ sy1 = 12.9
PW = 0.60
800/ CAPE = 0
CIN = 0 SN \ \
900| Tc = 6.4 SHEAR= 19. e
SREH - 0 LAPSE= 6.1 \)/
1000| CELL = 280/21 -




